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"Today We Have Naming of Parts. . I'

Before proceeding directly to the grammar, let us pause
a moment to consider the problems involved in defining word
categories. Practically the whole concern of some school gram-
marians has been with definitions of the parts of speech. Yet,
though both traditional and structural grammarians have spent
an inordinate amount of time getting up definitions, it is not
immediately clear that definitions of the kind they seek are
desirable or even possible. The impossibility of the task can
be seen if we consider the various forms that definitions have
taken. The traditional grammarian was generally content with
definitions that were vague because be was (like the rest of us)
creite sure of what, say, a verb was. Thus he cattle up with empty
and meaningless generalizations:

A verb is a word that expresses action, condition,
or state of being.

A "verb is that part of speech by means of which we
make an assertion or ask a question. " (Curme,
English Grammar, p. 22. )

The first definition excludes no word referring to action,
condition, or existence; words like 'game' 'old', and 'exist-
ence' would qualify as verbs under th..: definition. The second
ellow amongaong the ether things; any question word ("who. :.. ?"
"what... ?" etc. ) to quail). as verb.

However, influenced by the apparent rigor of the scientific
linguistics of the '40's and '50's, some traditionalists were forced
into revising their definitions slightly, thus giving rise to hybrids
of the following type:

Verbs are "words that pattern like ( the nonzensel mirlated
used in an earlier example: The floog airily mirilKire7

'the saying word" ... ;art of "the nucleus of an English
sentence... in which ene word seems to name something
and the other seems to say something about it... "

(L. M. Meyers, Guide to American
Et_21:asiai 3rd ed., p. 30. )

Here the vagueness of traditional definitions is compounded
by the vagueness of the structural approach; it is not at all
clear what is meant by "pattern like." Does the author mean
verbs pattern like mirlated with respect to the suffix (ed), or
with respect to the pfr-77sTdon among the other nonsense words
of the example? If the former, on what basis do we exclutle
the learned of "He was truly learned"?

The structural grammarians reacted strongly to the semantic
vagueness of the definitions of the traditionalists. They decided
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that truly objective tests for membership in the parts-of-speech
categories had to be devised. These tests would 1,:e "formal" in
that only statements aboutsitelitge properties would be allowed.
Thus they said:

A verb in English has the following characteristics:

1. Morphol.og,ically it has a distinctirm between
sing-,titsr plural a the present tense 4 "

WW1 *saga,

third person (write writes) and between pre-
sent and past write wzrrrotlaa,

2. Distributionaliy it fits into one or more of the
following frames:

a. The man s the house.
b. The man s there.
c. The man s wise.

(Waldo E. Sweet, Latin, a Structural
Apnrcacja, p.

But befall, which certainly satisfies the criterion in (1), does
not tinily of the frames in (2), if we apply the frames strictly
(and there is no indication but common sense that we are not
to be as "rigorous" in app'ying these tests as the structuralists
were in devising them). James Medi, in one of the ?more rea-
sonable structural grammars, tried this definition:

"A verb is any word belonging to an inflectional
series which marks the difference between
and pagt tense and whose members will fit into a
pattern lik4 g&T s m. /mg, pig or
play, plays, 21.amd,

( A Short Introduction toF;m1112 Grammar,
73. )

Again, the criteria are based exclusively on phonological and
morphological criteria: if we find forms in the language that
seem related tethe way are (this "i-a-u" change
is one kind of dinflectiona series ).-then they must be the dif-
ferent forms of a verb, We are not to employ "higher?' linguistic
levels like semantics to tell us that certain forms which are
acceptable from the standpoint of the test are clearly not what
we intuitively know are "verbs":

ding / clang / dung

may, maize, made, maid, maying (as in "'we'll, no
more a -It)

Or if we accept the morphological definition of an "adjective"
as a word that shows inflectional distinctions between the pos-



itive form, the comparative form, and the superlative form,
as inigg, kigar, piggaLt (Sweet, 21), on what basis will Yak,
ladder: latticed or tear, .tm.).or terraced be excluded?

We will continue to find, as we inspect one after another,
the traditional and structural definitions, that in cite way or another
they fail; for they will satisfy only insofar as we the speakers of
English are able to bridge the gap betweeh the definition and the
category being defined. in vther words, an Ellgh speaker'l
acceptance of the structural defthitions depends upon his ability
to reject such possibilities (as Pding! dang I &mg" and "may,
maize, made, maid, etc. "0, where the forms are literally
acceptable by the deanition but not acceptable to the intuition
of a native speakep of the language. It is the iauition, not the
rule, .whic?....makes the distinction. In an analogous fashion a
traditiehal grp.mmar (that is, a good traditional grammar) such
as those of Ralph B. Long, Jespersen, Curme, etc. ) becomes
an adequate grammar of English (one which explains all the
sentences of the language) only by virtue of the r.oacteres or user')*

integkihaeyhen the grammar does not fully explain the way inwince language operates, the user must bridge the gap.

Transformational grammar tries to take the intelligent
reader or user out .of the grammar: it sets up a grammar of
a purely.mechanical kind, thus allowing the speaker of English
to stand completely outside his language and to see exactly how
it works,. down to- very deep levels. It is this goal which avoids
setting up definitions that then depend on the intelligence of the reader
for their implementation. To show the. difference in the way
the verbs of English behave, consider the following sentences:

(1) The house is large.

(2) The house seenis large.

(S) The house has a sound roof.

(4) The house stands there.

(5) The house struck the tree.

The verbs in these sentences are examples of the five main sub-
sets of the English verb. In (I), the verb will have to go to the
front of the sentence to form a yes-or-no question:

(1) The house is large.
Is the house large?

But in others, the question will be formed by taking to tense and/
or agreement away from the main verb and attaching these ele-
mentz to "do" placed before the subject:

(2) The house seems large.
Does the house seem 'large?
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(3) The house has a sound roof.
Does the house have a sound roof?

(4) The house stands there.
Does the house stand there?

(5) The house struck. the tree.
Did thz house -strike the tree?

(For some people,
Has the house a
sound roof ? is pos-
EMT

In sentences similar to (1) and (2), if the. predicate contains a noun,
it must agree in number with t! subject. of the sentence:

(6) The nian is a salesman. (not: The man are salesmen)
(61) The men are saleszneli. (not: The men are a salesman)
(?) He seemed a teacher of the highest qiiality.
(Pig They seemed teachers of the highest quality.

..
This is not true o seaterxes lilce (3) and (5):. The house has three
chimnen; Tbia house struck the trees. Only (7.1rintilUcan be
modified bl'a mazipt adverbial, words Iike ckuietiv, hard weakly"
etc. :

(49 The house stands tharo esticall
(5') The house struck.the.tree.for

Thus, . in a number Of for:za ways,, thc'.sytithls,,that*e want to call
"Verb" in these sentences are ptriipugl..--.0iffe7Fent from one another.
And it is not justsirigle wordsthat'aediii*40i9k for in each
sentence, except (1), the verb iff only onenieniber. of a set of
verbs: besides .s, eel, (2), there fr.t$I3tea1 :, look., remain, gay,

taste,, etc,..3.1)91440Ye.:(e); there. is staLat lack- !..Areiglat.,
etc. and so ort, .

L. .

Given.th0 general comple-xity of language, a is probably im-
possible to istablish a comprehensive and useful definition of the
notion "verb in English, " even for the five main subsets of verbs
that occur in the preceding examples.

But we nriay toe. Ole to formulate our rules so that in one of the
first general. Valeti a cv.toloi7 "Verb" will be introduced. In
subsequfla.hiles, this very large ',category (or class or set)
will be broken down into more precise verb classes (subsets),
such as Linking, Middle, r.i.'rant Intransitive, and so on.
The breakdown might look like this in tree form:

See following page.

.017-mon),
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Rules

(1)

(2)

(7)

(8)

(9)

(10)

-5-

Semen c

VerIZ"Phrase

Auxiliary rb

Be 1-13

Vlinking

Vmiddle

Vintransitive Vtrarisitive

Note that the large category Verb (Rule 7) breaks into subsets Be
and Vrb (all verbs other than Be whose unique characteristics
put it into a separate subclass .tt this point. ) Rule 8 then divides
d) into subsets of Idinkand 3 12 (all verbs left after the linking

verbs are plated in a special gronp. ), etc.

We will then test our rules by Laing them to derive sentences.
If our rules are correctly formulated, it will turn out that any
lexical item (a particular word Ulm run) that we can trace back
to the symbol ''Verb" will be "an Enga.irr verb." The notion "verb
in English" will tins be defined by a correct formulation of the
rules, and It will be precisely that formal definition sought by the
earlier gramrnarians. All that our rules have done is to make
very clear and explicit what we felt all along to be true: that there
is .a type of word that we would very :generally call a "verb, " but
also that there are different kinds of "verbs"--sinlilar in some
ways; but different in otters: By careful formulation of rules
boOed on the behavior of the various verb types, we can capture
the sense of set and subset that we feel to exist in this area. The
same thing will take place with Noun, Adverb, and Adjective.
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GRAMMATICALITY

When the seventh grade student begins to study grammar, he
may find that the routine, school, and teacher are new, but that
the subject to be studied is, in at least one respect, familiar.
Ever since he started putting sounds, word forms, and phrases
tegether to rack°. sentences, he haa been developing Ift's granaar.
By "grammaz'r we mean two things: 1. the kites of human behavior
that produce language, and 2. the grammarian's account of that
behavior. Our seventh grader has no doubt had some experience
with what grammarians say, but he probably does not realize that
in a real sense he is a wslUing grammar himself.

Various ApproacheG to Grammar. The teacher's task would
be sMFirthere were only one and explanation of our
language that all could agree upon. Such is not the case, however,
and confusion over deciding what grammar to teach may cause tea-
chers to regard the whole subject as irrelevant. The leading con-
tenders in the grammar conflict are the -traditionalists and the
structuralists, both of whom offer fairly complete methods of
grouping facts about the English language while leaving much
unexplained. The teacher is confronted with the problem of
choosing between two analyses of his students' grammar, neither
of which seems to fit very well.

Traditional grammar, modeled e^ it is after Latin grammar,
fails to account for the uniqueness of English. It offers explanations
of distinctions that are not made in English and frequently prescribes
a single form where there obviously is no rigid standard. Although
it does a satisfactory job of describing the language, traditional
grammar relies upon our intuitive sense to give rationality to its
often inaccurate explanations of language.

Structural grammar, a relatively new system, employs infor-
mation brought to language study by historical grammarians, field
anthropologists, and phoneticians. Its great contribution lies in
its accurate observation of language. Definitions and rules are
derived not from meaning or a sense of correctness, but from
phonological (sound), :morphological (form), and syntactical .

(structural) patterns. The structuralistss lack of concern over
what should be rather than what is frees the teac' from having
to makeemmoral pronouncements about language usage--a signi-
ficant advantage. However, because it fails to account for most
English sentences beyond the very simplest, the value of structural
grammar, too, is limited.

To sum up briefly, traditional grammar, although offering an
adequate description of the language, is so bound up with how English
Elioliwork that it fails to explain how English does work. Structural
grammar offers a valuable system of classifying information about
language but is not rigorous enough to account for most of the com-
plexities in English.



The program of grammar advanced here will make use of the
(mc.eirier4ces of the :two systems-jUSt mentioned, but will incorporate

ot-tte '2,anguage theory set forbt.: *Para Chomsky'
booklyzitactie St e4.Lt 1.140:143, SortiOntes 0#1,91:1 transformational
gram mat. "What envitd. io.e. generative .krattirciaio dr:iductivety
deitted so that a foignal set of rules giving a rigor: my account of
Erigii.Oh syntax it#1.4.4cluted.

.fie tatili of the Ittrilket's The trimsformationalists conceive
4,?,Ak.s.14e gvd.zunpax 4-14palle:tge. ni urkty ueis7...rilueb me language as

but also;shOws how the sentences of that language are pro-
ctuted.. Tina task of the linguist is to separate the grammatical from
the:ungrammatical, by studying the structure of the grammatical
sequences, and thus to identify the grammaticality of the language--
that knowledge posseesed by native speakers of a language which
enables them to produce the sentences of the language, and to
recognize sentences they have never seen or heard. The grammar,
then, is a set of rules which can "produce" all the sentences of a
language but which will not produce any non-grammatical sequences.
In other' words it explains the relations of the various elements of
a grammatical sentence in formal terms so as to account for all
of the so-called grammatical sentences of the language.

Grammar "is a complex sygtemwith many and varied inter-
connections betweeti $..t0 parts. "" How then is grammaticality
determined? Breakg*ith English grammar can obviously occur
in many ways. The 'following sentences are all ungrammatical
but they are ungrammatical for different reasons.

1. The cricket which had been chirping (verb omitted)

2. Walked around the block the children (subject and verb
transposed)

3. This pencil my beat one is (verb and complement trans-
posed)

4. Lincoln were a self-educated man (lack of subject-
verb agreement)

5. I down fell (misplaced modifier)

6. He presented the whole class with a meanwhile
(determiners occur only with nouns)

These sentences represent only a few of the 'kinds of distinctions
made by users of the language. Ey exploring and categorizing these
interconnections it is possible to generate a grammar.

a' Gravenhage: Mouton and Co., 1957.
2
Chomaky, 22, cit., p. 60.
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Characteristice of a Good Grammar. To be adequate -'and usable--
the grammar must be sinvini; economical, and complete. It must, in
other words, be able to account for the various rafterns of the language
by a finite number of generalizations which cover the infinite variety
of the sentences of the language. Obviously it would be impossible to
analyze all the sentences of the language, which are infinite in number.
431.4 -..aanusgo tety casuaagisgag Ca .1.04iLloW aniaLau Wk. 141.1.Vi clum;cco. OULU= LPL MULL i2L-C ULL"'
grammatical, it is possible to formulate a theory of grammar for all
of the infinite number of unobserved utterances. The reaulting grammar,
if it is adequate, will account for all the grammatical and not any of the
ungrammatical sequences.

Grammar Is Built In. In attempting to convey this concept, we
should at the outset demonstrate to the student that he does have a
knowledge of the grammar of his language, &nd that he uses it constantly
without even thinking about it. (The sentences on page 1, and Exercise
1 of the Student Version are designed to illustrate this point.) Grammar
is something built in, not learned. That is, the child acquires the grammar
as he acquit s the meaningful sounds and words of the language. It its
a simultaneous process, This is not the same thing as learnirg a foreign
language where there is a lag between acruiring the sounds and under-
standing their grammatical relationships. The student nee& to know
that when we study the grammar of English we are really only trying
to understand why we behave linguistically the way we do-- why we say
"Jane is practicing on the violin, but don't say "Jane the violin practicing, "
We are concerning ourselves with something which is intimately connected
with every human aspect of our lives. We are examining the quality of
our languagecall it grammaticality--which produces the sentences
of that language. And we do this, as the linguists do, by looking at
sentences themselves, not just by learning rules about them.

It should be ce interest to the student to realize that he need not
know or examine all the sentences' of the langliage in order to understand
how it works. Indeed, even the linguist himself .could not do that, and
does not, as was pointed out earlier. Let the student realize that the
set of grammatical sentences is infinite and that the set of sentences
he uses is a subset of that infinite set. As a native speaker, his exper-
ience with the language will enable him to produce and to understand an
indefinite number of sentences just as his knowledge of and experience
with the theory of multiplication enables him to produce and under-
stand an indefinite number of multiplication problems. He doesn't need
to work out all the possible problems in order to understand the theory.
On the basis of a limited number of rules, the student of mathematics
can describe an infinite number of individual mathematical relationships.
Call the rules of mathematics the grammar of mathematics. Finite
in number, they can project the infinity of mathematic relations.
Similarly it is possible on the bases of a limited number of utterances

By sentence we mean any utterance accept ed as such by the
native speakers of the language. We will attempt later to define a sen-
tence through the analysis of its parts and of its history.
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(grammatical sentences) to construct rules which pro; ect the infinity
of a language. (You nay make use of Exercise 2 of the Student Ver-
sion to enforce this notion.)

Grammar Doesn't Rusiidon Meaning. Next, it is possible to
demonstrate toy the student that the grammaticality of the language
is not dependent on the semantic nature of the language, ThiS in
not to say that semantics is unrelated to the development of gram-
matical sentences. It is to say that it is difficult, if not impossible,
to construct an adequate grammar on semantic grounds. Every
speaker of the language would recognize that "'Tomas brillig, and
the slithy toves/ Did gyre and gimble in the wabe" is an English
sentence, but none could say what it means, if indeed it means
anything. It is possible to argue that "Hortense astounded the
egg" is ungrammatical on the grounds that it is nonsense; one
can't astound eggs. But to formulate a rule of grammar to
cover such eventualities would mean formulating an infinite
number of rules applyting to individual cases about which nomi-
nals can follow which verbs. However, it is possible to formulate
a single general rule which would specify that verbs likeind
pleases ter. r,astonish, frig, LItm, and surprise always take an
animate object. Thus, in the interest of economy, simplicity, and
generality (without which it is impossible to construct a usable
grammar) the semantic approach must be ruled out. (Exercises
3 and 4 of the Student Version will help emphasize that the g,:am-
mar doesn't depend on the meaning. )

Grammar Does Not Depend on Hip. Order of Frequency. It is
also TiBiiiibilicrabTaigitFariargairaaticaliTis not dependent
on the frequency with which a given sequence occurs in the language.
It !.s possible to imagine many sequences of words which have never
been produced before. For example:

1. Fat flabby parsons craftily consider their reputations.

2. Fat the parsons flabby consider their craftily reputations.

3. The cheerleader saw the long, dark, twitted, humorous,
slinky informative poster.

4. The halfback running sideways with purple blotches
clinging to the drooping ball.

It is doubtful that any of the utterances have been made before.
Yet two of them (1 and 3) are grammatical English utterances. The
other two are not. The fact they have never occurred before has
nothing to do with their grammaticality. Similarly, we can show
the student that many utterances which have a high statistical oc-
currence, such as "She loves me not, " are still not grammatical
utterances or English.

The awareness of some of these facts of what does and does not
constitute grammaticality in English should produce in the student a
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lively interest in exploring the problem of what it is that accounts for
the grammaticality of our language and lead directly to the discussion
of the first steps LI, constructing an adequate grammar" -a. 1mm-fledge
of the kernel sentence.

EXERCISES

The exercises in this section are primarily for the purpose of getting
*ha r-mpila t" haien, t" Irtfr thel SgIntence, nnfl t" voretneier whelt it 40.

. .

ge-aences, Page 1
The desired answers are 1, 4, 6 iind 116 If students disagree on
classification of some sentences (such as 2), you may need to remind
them of the levels of grammaticality discussed in the unit of "Varieties
of English.

Exercise 1: Page 2 If you are using this unit in a grade beyond the
ilth you may find this exercise and the next too easy for above average
students. The sentences produced by the students may vary. By
comparing the different answers you might call attention to the
flexibility and restrictinns of grammatical English sentences. For
examples because of subject-verb agreement restrictions, group 4
can only produce "Spinach gives you vitamins, " but group 3 offers
several possibilities:

The new boy could not find his class.
His class cool" not, fwd the new boy.
The boy could not find his new class.

Exercise 2: Esgr 3
You may wish to compile the combinations suggested by the students
in order to show them that a finite number of words may produce an
indefinite number of sentences, many of which have not previously
been spoken or written.

Exercise 3: .p.m.e. 4 (This exercise is too hard for below average
students. I Sentences 1, 2, 4, 6, and 7 are grammatical English sentences.

Exercise 4: ags 4
Pitudentsg sentences will obviously vary. But a discussion of the .guestion
"How do you know where to place nonsense words in a sentence?"
could make them aware that nonsense words resemble English words
in form (with todded used as a verb, quinful an adjective, etc) and that
they follow the normal word order of English sentences.

Exercise 5: Page 5
Asrirlese groups have some meaning, but only 6 and 7 are also grammatical
English sentences, (Some students may consider 8 grammatical.
You may wish to ask them to explain under what circumstances it would
be grammatical. )

Students will :wit all agree on which sentences are grammatical English
sentences. Some, such as 2, 3, and 5, are wrong in any situation;

_
ees ; s x

z),,,

,111L ,



others (8) depend on context. You might ask students to explain what
if) wrong with the ones they mark ungrammatical. For a helpful review
students could also explain what is wrong with the nongrammatical
sentences on page 1. They should catch obvious errors, such as the
faulty word order in 2, 8, and 10 on page 1; and the incorrect word forms,
such es quietly with the determiner a in 12, and these memo mf in 13,
etc. A look at 6 as grammatical compared with rigilongrammatical
might also reinforce the notion of grammaticality. It is important
avdre 60 ha dogmatic about t.bese auo-wera. 1412ala Wilt We are TrYzigg
to arouse curiosity about the language, not come up with hard and fast
rules.
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313StlISE P:31n3D703

True or false?

(1) Five is not an uneven number. #
(2) Five is not an even number.
(3) Five is an even numbeir.

Most speakers of English (provided, of course, they know the
arithmetic meanings of 'even' and 'uneven') respond to (3)
immediately, but (1) and (2) make them uneasy. They are
familiar with this kind of foolery from their school examination
days. But harassed into giving an answer, they would probably
proceed to the correct solution by first finding the truth values
of the positive statements underlying (1) and (2) and then negating
these. That is, 'Five is an even number' is false; therefore,
'Five is not an even number' is true.

In this case, where the user of the lenguage is not only asked
to understand a sentence, but is also requested to give a further
answer on the basis of his understanding, the process by which
he proceeds to the answer is often laid bare; but even though it
is not often that we see the process so clearly, it seems likely
that the understanding of any sentence takes place in somewhat
the same fasion; that is, a person receives the sentence, codes
it back into a basic sentence plus a timber of transformational
changes: for example,

(4) Was he hit by the truck?
(5) The track hit him + passive + yes or no question.

(He was ':mot by the truc)t . )
Was he hit by the truer')

Much of the grammar that follows is built on the distinction
between kernel (or basic) sentences and transformed (or derived)
sentences. Therefore it is of prime importance that you have this
basic distinction in mind. A kernel sentence can be defined most
easily as a simple active declarative sentence (using that term inits usual grammatical senspletely withoutad estival m
fication (except in the predicate adjective following Be and the
linking verbs), without somond subjects or objects, etc. Only
in the Verb Phrase of the kernirseutence will there be any com-
plexityrunning from one extreme in "He should have been going... "
to the other in

- running
goes...." In particular, no sentence is a

kernel if it can itself be derived from a simpler sentence or
sentences. The kernel sentence is the lowest common denominator
of sentencehood in English. The following sentences are kernel
sentences:

(6) The train hit the blockade.
(7) The girl is tall.
(8) The teacher should have been giving the exam.

#In this and the following units, example sentences are numbered
in order to make cross reference easier.
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(9) Birds sib.
(10) Man seems inhuman.

The following are not kernels for the reasons stated after each
example:

( 1,1) The tall boy is angry. t Contains an adjective,
otheFMn the predicate adjective; the result of
embedding "The boy is tall." in "The hay is angry.

(12) The tree Vas hit by the automobile. I a Passive;
derived from" The automobile hit the tree:'

(13) Was the man young? I Is a emestione rgt a declara-
tive sentence; derived from "The man was young

(14) The man and woman ran away. I Contains a compound
subject; the product of "The man ran away." and "The
woman ran away.1

(15) The boy won% talk tonight. [ Is a negative; derived
from the positive "The boy will talk tonight. I

Actually at some paint what goes into the kernel or is excluded
from it becomes a matter of some theoretical concern. For exampie
some grammarians have argued that both (15) and its positive form
are kernels. They say that the negative, like various parts of the
auxiliary, can be or/clonally present in any kernel sentence. Others
understand negation to be the result of a transformation. The latter
position is supported by the discussion that opened this section.
Generalizing from that discussion, we can say that speakers of
Engliah have an easier time remembering exactly and commenting
on the truth value of kernel sentences. This is not so easily done
with derived sentences, even those of the very simplest kind and
it seems to be easier to remember positive than negative sentences.

The kernel sentences are then the simple, declarative
sentences of the language. There is probably a finite number of
kernel types. The remaining sentences of the language are formed
from the kernels through simple and/or complex transformations.
Whether or not a sentence is a kernel or transformed sentence is
not a statistical matter; that is, the problem is not one of counting
the sentences of the language, We can, however, make this import-
ant observation: it is the transformed sentences and not the kernels
that are the real-life utterances of any language. On every level,
even in the very youngest school child, :::b4teentences used in day-
to-day living are derived (sometimes in very complex ways) from
kernel sentences. Nevertheless there is always beneath every
transformed sentence a kernel or, indeed, a number of kernel
sentences. For example,

(16) The blue house in which he lives was knocked down
by the storm.,

is derived in the following fashion:

(17) The storm knocked down he house. Ratsi
(10 The house was knocked down by the stare.)
(19) The house was blue.
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(20) The blue house was knocked down by the storml
(21) He lives in the house. J
(16) The blue house in which he lives was knocked down

by the storm.

Again it is important to emphasize that this analysis of
English is not being proposed merely because it is a convenient
way in which to deal with the complexities of English. The
point being made is rather more significant than that. It is
exactly this: There is a psychological validity present in trans-
formational grammar which supports the notion that the preceding
analyses of English sentences are somehow right. A recent
experiment makes this quite clear: the subjects were read a
series of eight sentences, some of them kernels and some pas-
sive transforms, negative transforms, interrogative transforms,
or combinations of these. For example, the sentences might
have been as follows:

(22) Hasn't the girl worn the jewel?
(23) The typist has copied the manuscript,
(24) The machine was bought by the company.
(25) B.-asn't a sec'retary been hired by him today?

The sentences were read at a slow but steady rate, and then the
subjects were asked to write down as many and as much of the
eight as they could recall,. A number of syntactic errors were
of course made in the recall process, but what is amazing ia that
there was a remarkably high incidence of mistakes that involved
only a single transiormational slip. Say, for example, that the
sentence in question was (25);, this can be coded into

(26) He has hired a secretary today.
(27) negative (He has not hired a secretary today. )
(20 passive (A secretary has not been hired by him today. )
(29) yes or no question (Hasn't a secretary been hired by

him today?)

The subject when asked to recall this sentence was likely to come
up with

(30) A secretary hasn,lit been hired by him today.

Presumably he coded the sentence back into the kernel but was
able to work it through only two of the three transformations.
Thus he was able to produce a sentence that waa one transformation
short of the original.

Consiatent one-transformation misses of this sort support
the notion that kernels and transformations are more than con-
verient theoretical primes. The kernels and the transformations
are tne grammar of the language and the mind.
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THE GRAMMAR: PHRASE STRUCTURE RULES

1.,roduction
Vaisrwing are the phrase structure rules which w.111 be covered

in he seventh grades They are also given in the linguistie: symbols
which we hope the student will become familiar with. Rules of this
kind are known (In whatever discipliee they are used) as rewrite rules:
the symbol to the left of the arrows the arrow itself being interpreted
el et 1/11r 4 step& esta.44 oars I es cittrisrlies eats, Mkas. wor.1 ireeet:e.s.. ekP sands erartorda":1 et 201114PA ibibilifiab 410/0411110 4 TO ö low wbwa dr 44160 iverannerfievemraa IP;IPW*4 fiJiiiiPS vaasse

its application is, of courses wore fully developed in the student version,
where the rule itself is not given until the student has been led inductively
to anticipate it.

(1) Sentence-. > NP + VP sentence---> Noun Phrase +
Verb Phrase

(2) VP- -> Aux 1. Verb Verb Phrasea> Auxiliary +
Verb

(3) Aux---> Auxi (A 2)

(4) Auxi--> Tns (M)
pr,

(5) Tna--->
past

(6) Aux2---> (have +

(7) Verb.>

en) (be + ing)

Vrb

4. Pr

1: Pr
(8) Vrb--a>

`fib

(9) Vb-->
raid +

V (Man) k

Auxiliary---> Auxiliary-1 (Aux-.
iliary2) ',Paren-
theses indicate as
optional elements'

Auxiliaryi---> Tense (Modal)

r .paEst

present.
Tense--->

[Braces I signify that a kernel
has one but ever both elemevisa

Auxiliary2---> (have + en)
(be 4' ing)

Be 4 Predicate
Verb-->

Vrb
krb includes all verbs` except
Be,!

rVlinking Piedicate

b
EVI2 indicates all verbs but Be
and

Vraiddle + Noun Phres"e

(Manneadverb)



(10) V---
Vin -4)

Vtr NP
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cVintransitive

Vtransitive + Noun
Phrase

(11) Pr---> NP
Vdj

Prerlicate---> INoun Phrase
cAdjective

Loc (Advorb oi Location)

(12) Ivian---> Act ly

(13) NP---> T N 4 No

(14)
Nm

(15) Nent-4
Nan

Nix

Nhurn
(16) Nan--->

(Nnon

(17) N0---> sing in the
context Nin

(18) N°--->ising
plur

4.

Manner adverb- > Adjective +
ly

Noun Phrase> Determiner '
Noun 4+ Number

(Countable Nouns?

Mass Nouns J
Animate

Noun Countable- -.> Nouns ,
)

Inanimate if

Nouns)

Human Nouns
Noun Animate-->

Nonhuman
Nouns

Number of Nouns--* singular
in the con-
text Noun
Mass 4*

Number--->
singular

plural
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In this quite simple grammar of English the rules are for the most
part 'context-free', which means, for example, that NP (noun phrase)
Ls rewritten as T + N + N° (determiner + noun + number)
wherever and whenevei it appears in a string of symbole, Only (17)
is context-sensitive: .7.+1° (number of noun) must always be singular
if it immediately follows Nm (any mass noun).

Abstractly sneakfmg then: a rewrite rule takes the following
form:

X a Y---->Xb Y
In other words, X. el Or describes a context and a is the element
rewritten as b: that is, Rule (3) direr s us to rewrite 'NP + Aux +
Verb' as °N15° + AUY + Aux2 + Verb. In this example NP a X;
Verb Y; Aux n a; Auxi ux2 s h

The rules are appIted in order as many times, as are neces-
sary. If the string after the application of (10) is NP + Vtr + NP,
VS) must be applied twice, once to the subject (NP) and once to the
obey. (NP). A fir.L.a. or terminal string will consist entirely of sym-
bolb no one of which is found to the left of an arrow. A terrain
string consists then entirely of terminal symbols as a result
Rules (1) - (18). Each terminal symbol that is a lexical symbol
and not a grammatical symbol is further expanded as one of the
lexical items for NI iich it stands. For instance Nhum may be M!1,

It is important to note that each rule except the first is re-
writing only a portion of the particular string, to be exact one element
of the string, as it exists prior to the application of the rule. For
example the kernel sentence The boys have had the money." is
the result of applying the rules in order. Thus each item is expanded
one by one. The process leading to the string which represents this
sentence would run as follows:
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S The boys have had the money.

(1) NP + VP

(2) NP + Aux+ Verb

(3) NP + Aux/ + Aux2 + Verb

(4) NP + Tn.s + At7/2 + Verb

(5) NP + pm_s + Aux2 + Verb

(3) NP + pres + have + en + Verb

(7) NP + pros + have + en + Vrb

(8) NP + pres + have + en* Vb

(9) NP + pres + have + en + Vmid + NP

(13) T + N + No + pres + have + en + Vmid + Is1P

(13) T + N + No + pres + have + en + Vmid + T + N + No

(14) T + Ncnt + No + pres + have + en + Vmid + T + N + N°

(14) T + Ncnt + No + pres + have + en + Vmid + T + Nm + No

(15) T + Nan + No + pres + have + en + Vmid + T + Nm + 140

(16) T Nhum + No + pres + have + en + Vxnid + T + Nm + N°

(17) T + Nhum + No + pres + have + en + Vmid + P + + sin
(1) T + Nhum + plur + pres + have + en+ Vinid + T + Nm + sing
The sy:-.:bols which sta ad for lexical items are then rewrittenaps lexical items.

T + Nhum + plur pres + have + en + have + T Nat + sing

The + Nhum + plur + pres + have + en + have + T + Nm + sing

The + Nhum + plur + pres + have + en + have + the + Nm + sing

The + Nhum + plur + pres + have + en+ have + the + ram
+ sing

The + boy + plur + pres + have + en + have + the + money +
sing

(Note: the numbers in parentheses of course refer to the rule being
applied in the particular operation. )

The generation of a sentence (more accurately, of the teranin4
string underlying the sentence) can be seen more revealingly in a
tree diagram of the following type:



NP

N N° (13)

Int (14)

Nan (15)

BIThurn (16)
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Sentence

plur (18)

the boy plur

V (1)

Aux

Aux, Aux2 (3)

Tris (4) I\
I I \pres t5)

Ares

i \have en (8)

Vrb (7)
I

Vb (8)
rift--

'mid NP (9)

T N No (13)

IL I (14)

sling (17)

have en have the money sing

Verb (2)

Oblizatory transformations and phonological rules that specify such
things as the exact nature of preLa, etc. , will release the kernel 8671.-
tence in question: The boysa7re had the money.

The application of the rules is thus a purely automatic and mechan-
ical matter. And the construction of a tree diagram is a graphic re-
flection of the rules. If only grammatical sentences can be produced
with the rules and if no ungrammatical sentences result from them,
then all that is known is that the rules are correctly formulated. But
that is all that is known, this being in itself not very important. For
insight into the language is only reached through explanation of the
rules or through discovery of the rules. Thus it is that in the lessons
that follow, we have as far as possible tried to lead the student into
discovering the rules, or failing that at least to understand them.

The very bright students will not only discover the rules rather
quickly, but they will also begin to discover the basis for the rule-
making and to predict subsequent rules, perhaps beyond the limitations
placed in the above seventh grade grammar. For them some dis-
cussion of the reasons for ordering the rules will be pertinent. Why,
for example, isn't NP rather than VP expanded in rule 2? Why does
(17) recede (18)? What justification is there for expanding (7), (8),
(9), 1 and (11) in that order? Are all the rules necessarily ordered?
And so on.

There should, of course, always be a frank admission whenever
the question arises, that these few rules do not even approach a full
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explanation ef the total complexity that is the English language.
This is implicit in some of the underlying explanations of certain
rules in this simple grammar. For example, the distinction be-
tween Nag and Nin is based on the compatibility of these types of
nouns with various verb types: "He terrified the boy"; "he terrified
the dog"; "He terrified the table." We aee thus predicting a dis-
tinction between transitive verbs that can only haee animate subjects,
animate subjects and inanimate objects: those that are .tree to have
any kind of subject and /or object, etc. Again there is Inatezial
here for the brighter students.

The rules that follow in the subsequent lessons are then
explicated one by one in the student materials. In the additional
notes provided here in the teacher's materials we try to discuss
as far as possible he various difficulties that may arise. Certain
correlations are also made between the terminology of transformation
grammar and the terminologies of traditional grammar.

Rule in Sentence- -u'> NP + VP
NP = (generally) the subiect of traditional grammar; VP = the predicate.

Exercises: Rule 1

Exercise 1: Pa es
These sentences provide a kind of flashcard practice in "instant"
identification of the two essential rerts of English sentences.

Exercise 2: Pa, 8 (Ask your student' to cross out "sentence" at
the end of the first line of directions. ) Elementary as this step seems,
students here begin their initial association of symbols with the
two essential parts of the kernel sentence. This is, of course an
obligatory rule which applies to every kernel.

Exercises 3 and 4: Pages 8-9,.
Because anewers will vary considerably, students probably would
enjoy hearing the sentences others write. This provides an oppor-
tunity for you to reinforce the notion that one essential part ngay be
much longer than the other.

EXercise 5: yam 10
le The baby + cries,
2. The children + play.
3. The man + lands the fish.
4. The girl + writes.
5. The clown + kicks the mules.
6. The child + sleeps.
7. The boys + find the dog.
8. The butler + closes the door.
9. The maid + breaks the cup.

10. The fish + leaps.

Exercise 6: Page 10-11
Sentences like 3, 4, and 5 in A are likely to cause some problems for
the student trying to draw the vertical line In the proper place. The



previous discussion of the kernel sentence should at least reveal why
the difficulty arises. For example, "The friendly kittens next door
climbed the thorny tree.", might be divided by ii0Zle students after
kittens rather than after door. This division f understandable be-
case iii) is the result of embedding 01) in (i):

(i) The friendly kittens climbed the thorny tree.
(ii) The kittens are next door.
(iii) The friendly kittens next door climbed the thorny tree.

Next door is thus the remnant of a Val of an embedded kernel, one that
had gone into the making of the . derived sentence. Rule (2) will clarify
that the first element of VP must be n Aux or lexical verb. It is very
ianmntrta at this point to remember that your students do not yet know
what elements actually occur in a kernel sentence. Hence, you should
not insist on what you know will later be revealed by the phrase structure
rules. You should, instead, try to get them to intuitively eliminate what
they feel is not essential to a grammatical sentence. What you are trying
to do is get them to see that underneath a complex sentence is a simple
base sentence. You are&t trying to define that base sentence. Being
able to distinguish between optional and obligatory elements is not really
possible here for they have az yet no basis for making such a choice,
nor is it necessary. But you krill probably find that most students will
reduce these expansions to the obligatory elements of a kernel sentence.
A few may wish to include some of the 2g121.1a1 elements. Your aim,
then, is to try to get them to cross out items in a way similar to the
following. realizing that so far they are working intuitively and that
there will be differences of opinion. The sentences offered in this ex-
ercise, become progressively more difficult. Though you know that
red in "The red house" cannot occur a kernel, you should only
try to get the student to see that red Is not essential to the grammaticality
of the sentence. The items which will be designated as optional items
as we develop the phrase structure rules are in parentheses. They are
the ones which will probably cause the most discussion.

A. l. The seeeer player ! broke the library window.
The player broke the window.

2. The angry player; left the field (unexpectedly).
The player left the field (unexpectedly. )

3. The man wIthetze.ear.14.1 is the mailman.
The man is the mailman.

4. The man whe.ieepttsibingette-eart I is the mailman.
The man is the mailman.

5. The friendly kittens next-deer I climbed the thorny tree.
The kittens climbed the tree.

6. The swaying dancers hlooked sleepy.
The dancers looked sleepy.

7, The door efethelyea lis open.
Tie door is open.

8. The Iiireping man lis a geed carpenter.
The man is a carpenter.



9. The studert, witla.the-Ickighezt-lealleiwirke a radio.he student w.jne a radio.
10, The ni.n.e.ty-nine,.-bo/tles! fell (down. )

The bottles fell (down).
11. The bottles haPtsille on-t-he- wall fell (down).

The bottles fell (down).
12. The bottles which-We ng-ewtheewalliv.rill fall (down).

The ot:;:tes will feel (down..

13. 1. Harold 1 slept (in the ceaft hay) (until morning).
Harold slept (in the hay) until morning).

2. Acisq MVO/ the gypsy band moved the eelogul wagons.
The band moved the wagons.

3. The beautiful girl Isoftly sang a Spanish lullaby.
The girl sang a lullaby.

4. The person woo -seesethislhas some dangerous information.
The person has some information. I Some io a determiner.]

5. The table attke.".eack.efetheercern.lhs.s a display of rape-
fossils..
The table has a display.

6. The fish lee-e.aught I weighed a pound after-beim-c-leaned.
The fish weighed a pound.

7. The street ifiaSeent.of -theeseheel. 1 is slippery (this morning. )
The street is slippery (this morning).

8. ,lust. plaice waterl is the best cleaner far-meet-things.
Water is the cleaner.

9. The oldisfastetaned trolley I firesily stopped vehen-seneeene
emergeney cooed-.

The trolley stopped.
10. A dirty tramp w4. -en easel knocked (loudly) (on the Smiths4

back door. )
A tramp knocked (loudly) (on the door.)

11. A dirty tramp wheehadeeeatael knocked (loudly) (on the
See,ithslebsoke door.)
A tramp knocked (loudly) (on the door. )

C. The adjectival phrases included here make these sentences
difficult. You may wish to assign them to above average
students only

I, A shaggy dog1 watched the leag. line ef.peepele,
A dog watched the line.

2. The huge-polac bear CeemeArleeska rattled the iroir bars
et-the-oage.
The bear rattled the bars.

. A s k umber party is a sleepless gathering.
A party is a gathering.

4., The box heklitegethelewels1 fell (from the deck) (into
the muddy stream)
The bow fell (from the deck) (into the stream).

5. The box irag- the -jewels-whiek.theebupgker had
4otege! fell (into the =eddy stream).
The box fell (into the stream).



6. The part 1-liked I came last (in the program).
The part came last (in. the program).

7. This book about-GI/Lief-Jest/phi included a history et
the Ner-Perce-htellans.
This book included a history.

8. The sabresahanging-behind-titemeouivber I have probably
been there (a long time).
The sabres have been there (a long time).

9. The detective haews-for-hts-frIreat-tvied I is the famous
Sherlock Holmes.
The detective is (the) Sherlock Holmes. Most students will

want to remove the
determiner the.]

10. Birds ef-all-sertbe I flew (to the refuge) (along the lalrear
Birds flew (to the refuge) (along the lake).

11. The key te-tite-filing-eabizet I is in the room where-we-had
lunch.
The key is in the room.

12. The legwyerle request for taerestiarte f bothered the judge
(immediately. )
The request bothered the judge (immediately).

13. Oniy the verrhardiest workers I will finish the Isles*
assignment (by tomorrow.)
The workers will finish the assignment (by tomorrow).

14. The man I had walked a mile (every day).
The man had walked a mile (every day).
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THE VERB AND ITS AUXILIARIES

These rules provide an analysis of the auxiliary (Aux) structure
of kernel sentences:

(2) VP---> Aux + Verb

A( 3) .4.2.A
(AUX2

(4) Auxi> Tns (M)

(5) Tns" -'
pres

past

(6) Aux2> (have + en) (be + ing)

(a) Aux as it is here expounded will be found in every English sent-
ence, for every English sentence contains at least tense. Other parts
of the Aux (see rules (3) to (6) are optionally present--( ) indicating
that a particular element may but need not be present in a given English
sentence for it to be grammatical. F I indicate that one and only one
of the enclosed items can be chosen.

(b) The following diagram, known technically as a finite state
diagram, should clarify the dependencies present for the different
elements of the Aux:

pies i

0 Z 2 3 4 S , 6i

A grammatical Aux is produced by beginning at state 0 and, following the
direction of the arrows, switching freely from state to state. A segment
of the Aux is produced with each change. The only neceseiry conditions
imposed are clearly that every yp have a tns (either asst or pres) and
a lexical verb. Thus, starting at 0, you must choose oither fast or
psiorrt. Next you elect to choose M (0 modal), but you may also elect
not to choose it. You have a choice of choosing have ( 0 the auxiliary
122.,re, not the lexical have), or not but if it is coxen the necessity of
choosing en ( 0 the past participal marker) follows. That is, a past
participle must follow the auxiliary hays jug as a present participle
must follow the auxiliary Be: thus the different.a between "He is sleeping "
and "He is interesting. and the ambiguity of "They are eating apples.

(c) Notice that Aux does not contain the sequence of elements
be + en necessary to produce the passive constructim There are
several reasons for this. To begin with not all verbs can be made
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passive: for example, "The boy had some money." can not be writtenpassive:
money was had by the boy." Of course it is true that not all verbs

can appear in the progressive. (Have + en * perfect; be + ix
progressive): We can't write "He is knowing the answer: But this is
more easily explained as a syntactic accident, somewhat like the similar
situation on the phonological level of the language where "blik" is
pet n Fre ah wnrrl 1411 i f ham pola ctihlP phrineingie.a.1
components for an English verb but for some reason is not one. (In
contrast to Da which under no circumstance could be an English word).
That know, dislike equal, etc, cannot appear in the progressive is an
interesting observation that will have to be handled in a full grammar
of English by means of a context-sensitive rule, at some later time
in the grammar. The more powerful reason for eliminating the passive
from Aux is that the passive is a derived sentence type. That is,
"The boy started the fire. " and "The fire was started by the boy. "
are related or synonymous in a way that "He starts the fire, ti "He
started the fire. "; lifle will start the fire." are not. The source of the
be 4' en and the 12y. of the passive structure is in the passive transforme-
don itself, uot in the kernel sentence.

(d) The list of modals given here is perhaps too short. Some speakers
of English will use .da...ore oughts ne.11A etc. e'lle dare not do it. "
"He oughts )t do it.") These are, however, less likely to appear as
modals in positive sentences in most American English dialects. Note
also that s, hould is the grammatical past of shall, would of will, il.444
of mygrammatical past, though not necessarily semantic past. In
the same way, sl.Lip is grammatically feminine, but semantically neuter.

Exercises: Rule 2

Exercise 1: age 12

1, howled
2, painted
3. saw
4 flew
5. sank

8. painted
7. were opening
8, are
9, looked

10. cost

Exercise 2: Ea.m 13
The notion that the root is the verb form to which - may always add
Jig provides a simple test for students to use in ding or recognizing
root verbs: Can the form take imi?

A. 1. sing
2. call
3, make
4. fish
5. speak

6. have
7. sit
8. choose
9. burn

10. lead
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B. lo go

2.
3,
4.
So

Exercise 3:

lie
buy
forget
wake

6, be (The limiest immed-
iately eliminates am
or in 011 the root
verb here and in 10.1

7. drink
8. set
90 'Mira

10. be

PjAis 14 (Ask your students to write form. in the blank
space at the beginning of /11271", paragraph 3
on page 13. )

verb 8 tense + root

1. had a past + have
2. goes present + go
3. took a pact + take
4. contains = present + contain
5. lost a past + lose

6. collects present + collect
7. looked past + look
8. is * present + be
9* cawed 'A Pad CEIVIie

100 volunteered a past
volunteer

Tense: I' se 15

sim-present cook present had - past were past
ran = past write - present have " present; stole - past
followed past saw - past are .0 present

Exercise 4: 15
Exerci ses 4 affid-5 are designed to show students the difference between
aLbt. ar and irre verb formations. Exercises in Rule (6) amplify
this notion. udents may find a review of the spelling rules usually
associated with the formation of the principal parts of verbs helpful
at this pt.

24,

5.

B. 10
2.
3.
4.
5.

painted
trampled
started
caved
ruled

turned
acted
dined
tried
surveyed

exorcise 5 fv.mq 15

Ai, 1. ri m
2. chose

6, dreema
9. scattered
8, looked
9, obeyed

10. pitciied

6. hummed
7, laughed
8. traveled
9, stirred

10. wrapped

3. struck
4, froze



5. sold
6. had
7. did

B. 1. ate

2, went
3. lay
4. hit
5. caught

Exercise 6: Pacip in

catches
sweeps
eats
drinks

sleeps
cuts
sings
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8.
9.

10.

brought
swung
broke

6. shined or shone f The
mewing of the verb
shine determines which
form is needed: "1
fahinpa him altrion_i/nr
"The stars shone last
night "I

7. bought
8. fought
9. shook
10. was or were

writes
dri7es
runs

Exercise 7: texp 17
All students should be able to diagram the
Part A.

A. 1 Sentence
.,,...........-w.............

NP TP
.."*.°°1-\

Aux Verb
1

I

Tns
1

I \
Sarah + .present + win +

Sax's!"

Auxi

(1)

the car (2)

the car/drives the car.

NP

2. Sen nee

r".-4....,......
Aux Verb +

\

Aux
I

Tns
iThe hamster's past+ beel+ a pet.

The
i
hamster was a pet.

(The rule numbers
were inadvertently left
out of the d ctraza on
p. 17. Show r students
where they Belo

14.p
oe *""Ti6V)

sentences in etc. 1 --
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Sentence
...---'----'*-----....,

NP VP (1)i........
1

Aux,
1

Aux Verb + into the eq. (2)

At xi (3)

I Tns
I

I (4)
1 i

i

A balloon+ past ± e + into the sky
,.---

A alloon rose into the sky.

4. Sentence

NP VP

Aux Verb + the sign

Aux
1

Tns
I /1-

Some boys + paist -* build + the sign

Some boys uilt the

5. Sentence

NP VP

The car

The
1car

(1)

Aux Verb + a dent (2)

ItAUXi (3)

Tns (4)

present + have + a dent

has a dent.

feeling of "discovering something" netv

Exercise 7: Page

most students. However, to encourage
about his

as aux -language we have introduced hg. and hue

B. The sentences MT. B provide more of a chaleT le for
students. Because kthas not yet appeared as I 32,
its use as a verb in sentence 2 vhould not confuse

the atudentts

iliaries in sentences 3 and 4. You may wich to
reserve these for your more perceptive tudents.

17
l

)111111)
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NP

Aug
I

Aux

I Tns

The club + past + choose + a motto.
I

(1)

a motto (2)

The club chose a motto.

2. Se. ence

NP

Verb here
I

Aux].

Tns

The books + present + Be + here

The books are here.

3. Sentence

NP

(3)'

( 4)

(1)

Aux Verb + now (2)

IAux
1

(Aux2) (3)\\
I

Tne (4)

Thi.tide + present + Aux + rise + now

Theitide ib. ribing now.

4. Sentence

VP

Aux Verb

Art Aux,,

Tns
4 /

had bullied the /clothes.

the clothes

Henry + paPt + Aux + bury + the clothes

Yenry



5. Sentence

1.

The sergeant
I

The sergeant

Exercise 7: rime 17
C. Sentences 1, 2, and 3 are simple in structure. Sentences
4 and 5 include Atsc2 elements.

-31-

VP

Aux Verb +

Aux1

(1)

an order (2)

(3)

Tne (4)

p st + give + an order

an order.gave

Sentence

NP VP

Aux Verb + in the tire

Nails +
t

Nails

Aux

Tns

past + 1e+
were

2. Sentence

NP VP

Aux
I

Aux
I 1

Tns
I

'The duclet, + present

The ducks

in tie tire

in the tire.

Verb + in formation

La/ in forrettation

in ormation.

3. Sentence

NP VP

The sun +

The nth
Losagftsa.

Aux

AUX1

Tns

p Est + o + down
4404.

Verb +

,tom T
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4 Sentence

Aux

(1)

Vero + in the garage (2)

T113

raasi (3)

(4)

cry + in the garage

The kitten was crying in the garage.

5. Sentence

.NP VP (1)

,Aux hrb + this system (2)

Atpci Aux2 (3)

Tns (4)

We + present + Aux2 + this system

We are trying this system.

Past and Present:. Pane 18

.per
This is the first exclusive disjunctive rule, as rules of this
type are known technically. That is, the element to the left
of the arrow can be divided into two Embsets. The tense of
a sentence, then, will be one or the other, but not both.

The Idtten+aasi+ A

Rule (5) Tns

Auxiliaries (Have + en) and (Be +43g) : .13.Age
Because of the importance of Be both as auxiliary
and as verb you might reRsonably expect students
to learn its eight forms: tes, was, were
12210, been. This is the only verb which has 3 forms.

Exercise 8: page 19
iKrwa.its will nee:: to retain the correct tense form in

rew riting the sentences in A and B. This prepares
them for the concept that the shift of tense from verb
to helper is automatic.



A. 1. The boy went to the circus.
The boy was gno.WIto the circus.

2. The miners look for their friends.
The n.iners are looking for their friends,

3. The ship draws near to the dock.
The ship is drawing near to the dock.

4. Dishwashers became more popular.
Dishvy-ashers pcfpillar.

5. Albert Schweitzer serves ae a doctor.
Albert Schweitzer is servling as a doctor.

eat6. The survivors very slowly.
The survivors are e, very slowly.

7. The title of theTirmiliTtergst in the night sky.
The title of the film was &I 4rim in the night sky.

8. The wind blows throuFmn coat.
The wind is biota s through my thin coat.

9. The artist imated three murals.
The artist was painting three murals.

10. They studie-3.Aoman history.
They were studying Roman history.

B. 1. The doctor sax in the shower.
The doctor was 1....41g to the Shower.

2. Jack Sprat ate :siftCite.
Jack Sprat was eats n7 fat.

3. A sailor loves the sea.
A sailor is loving the sea.

4. Ned washed the blackboards carefully.
Ned was washing the blackboards carefully.

5. The students had a party.
The students were having a par;../.

Exercise 8: ?gals
C. 1. Sentence

NP VP

Apx Verb + in the shower) (2)

Aux, (3)

past

Tns

it
(4)

(5)

The doctor + past + eking + in the shower.

The doctor sang in the 'bower.

( 1)



02. Sentence

NP 17P (1)

Aux
1

Verb + no fat (2)/ /

ast

Aux
f 1

I

P

(3)

Tns (4)

(5)

Jack Spratalpast + eat + no. fat.
1

i ...ow- ....---
Jack Sprat are no 'tit.

You may treat no as a deteminer orchange it to some .1

3. Sentence

NP VP (1)

VerbVerb + the sea (2)

1 tate

Auxi (3)

Tills (4)

present Sq.f
1 I

# 1.

-34-

I

A sailor + desert + love + th sea
A sailor loves the sea.

4. Se nice
NP

P

ljZa' (1)
''...Ala V rb + the blackboards carefully (2)

I
Aux (3)

Ti /
ns (4)
I

paot (5)
I

Ned + past + wash + the blackboards carefully
i,,.."....,---- ......_,..------- .........-----

Ned washed the blackboards careglly.



5. Se ence

VP

Aac..

Aux,

Np

-35-

PaTitst
The students+past + have + a party.

The students hid a party.

(1)

Verb + a party (2)

(3)

(4)

(5)

Exercise 9: Paz 2:
grudents' answers will vary considerably. Discussion
of these differences should help the class understand
the .Be t. ing.concept. Some students might enjoy
constructing strings of symbols for the more imaginative
sentences.

Exercise 10: Pam 04,1. (The t has been left off of hunt it the example
'you want to encourage stunts to check their .conWirs'
by having them copy the string of symbols above the verb
form they supply. Thus,

1. The story + pres + end

The story en

10. His mother

His mother

A. 1. The story ends B.
2. They sang
3. The paper came
4. The bridge sagged
5. We had
6. Some people seem
7. The roads are
8. Jesse bought
9. The sea is rising

10. His mother was calling

in + trill
caning.

1, The visitors left
2. Sandy Koufax is pitching
3. The hairdresser knows
4. Ron did
5. The doctors are checking
6. I am
7. Erosion caused
8, Everyone saw
9. Newsmen were saying
10. The sun was shining.

^

r

i
c' 0



C. 1. The customer paid
2. LacIr set
3. A guide is leading
4. Yoll are looking
5. The swimmers dived or dove
6. Mistakes teach
7. I am going
8. The tenant was moving
96 He wore

4 llik P1111...... ........11.........1.........11 ........... /Mt L. AralosIM.1.1 Cat Mah./I2

2.

The doctor
1

vor-as singlug in the shower

II

ay. &Aux ELE-apui7=rtits WOO FilCaLlii SS

The material and exercise on page 22 should be optional for bright
students
E x e r c i s e 10a: Rau%

1. Sentence
ii.....,............

NP 'VP (1)

Aux Ve + in the per (2)
--°- NAuxi Atix2 (3)

i
Tins (4)

(5)

IT
(6)

The doctor + pi* + sing + in raff shower

...........................batencf

NP IVP (i)

Jack Jpratt ,/ta eating

Jack Spratt + past + zbi +

1

b
1

p iv i

no fat.

noi fat

(4)

(6)

(5)

Aux-... Verb + no fat (2)
Auxj<N.

Aux2 (3)



3.

NP

A saiilor

NP

ntenclt

Virb + the sea

AUX"

pros

Tr

ing

+ pr + ittg + lo e +
loving

e

thei sea

the. sea.

Aux.°°°#' Verb + blackboards

Auxie9

I

be + iig
i

Neiti + past + be + Jig + wash + the blackboards
Neld was

..,/
wa\a

/ carefully
the blackboards carefully.

Etentence

ctrefully

Verb

TrArr---13,2
Past\ be +

The rtudents + past 4,)e
The students wore

+ a pEtrty

4. have
arrtY

h xerng a party.

(1)

(2)

(3)

(4)

(5)
(6)
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The Auue wuilia (have + en): ?am 2243
This material prepares students for the acceptance of the
tense forms of the auxiliary have by looking et the tense
forms of have as a main verb and by reviewing the twasti
forms of the auxiliary Bee L might be helpful to construct
frames to test the present and ;past forms of have° Bright
stvide"es tx."1 p.wavis,:ably sec 411%ftwairl"telY that the use of
have and has are determined by the subject.

Exercise 11: age 23

1, w_ro_ti-atirohn had written a letter to his father,
2, tho-611--Team captlin, sa--Tiad shaken hands.
3, flif=Parts of the decorairoljrnallen off
4, freezes--The water has frozen in the pipes
5, droveThe mayor had driven across the new bridge first.

The en form: big 24
127u may want to tell your students that although not many verbs
actually have en in their past participle form linguists use
en as the cover symbol to distinguish it from the past tense
Una which they label ec The usage manual includes additional information
and drill to help students develop a better understanding of
standard usage of verb forms.

Exercise 12: pal 24-25

A. 1.
2.
3.

5.

a.
7.
8.
a.

10.

played
seemed
uased
sid
run
ridden
knocked
struck
grown
stayed

B. 1. known
2. eaten
3, drawn
4, swum

15,
16,
17,
18,
19,
20.

brought
seen
done

driven
washed
broken
copied
tried
captured

5. last
8, stolen
7.
8. pray



it 9. lain
10. oit
11, swung
12. thought
13. come
14. given

Enercise 13: Eug2.1
AZ, 1 past have +

Susan had arri ed with her mother.

2. past + have + en + wgrk

We ha worked very hard.

3. past + have + ekt+ crawl

A snake had crawnto the rock.
4. ptst + have + en + drop

The rescuers had dropped supplies,

5. pres + have+ en+ cover

Fog 11.44411( cove<-'(-ihe valley.

6. pres + have + en + hurry

The boys have hurried to finish the work.

7. prey have +
Mr. Grimes has appeared in the garden.

8. pres + 1;04ye +)anss
Time ki
9. past + have + + change

She ha changed her mind again.

10. past + have (kn + hear

The audience d hel*S;;;.e joke before.

B. 1. pt e:( have + en + ring

The bell had rte before we arrived.

2. pres + have + en + come

.le as come for a cup of sugar.

-30-

en +

15. had
16. worn
17. been
18e fall
19. drunk
20. gone



3. t have + on + give

Two newspaper3ad gimp conflicting reports.

4. pres + have + + lose
Nick has lost his math book.

5. pres + have + en + write

You have written a good paper.

6. past- + have + en + take

A bird had taken the ring.

7. pr s + have + en + do
N./The doctors have done all they can.

8. past + have + en + begin

Many:teAmlann d begun the race.

9. pres + have + gn + be

We have been here before.

10. pres + have + en +,,ve
Steve has I.ad no help.

C. 1. pres + have +

An awning has fallen on the sidewalk.

2. pest + have + e aft,llave

The medicine ad had good results.

3. pres + have + en + sink

The barge mak.

4. past + I ve + en + dr,ink

Dr. Jekyll had drak the miaFtu.re.

5. pres + have + en + be
Nk.

Weeds t'Site a nuisance.

6. pres + have + ec2e + ing + throw

They have been thin these away.



Exercise 13a: age 27

1. Sentence

NP.------------''',

Susan +

Su an

...4

Aux -.".-
1 1

Tns
i

past

have

past + hate
\ .0?'.

had

N
Aux2

P

Verb

+ en
1+ ea +

(1)

+ with her mother (2)

(3)

(4)

(5)

(6)

+ with der mother

rived with her mother.

arrive

Sentence___---- -o........
NP VP

Ate---°--..--#-.- 'erb +
.-------

Aax
1

Tns \
i

NP'

Pita \
have +

+ past + have +
....-'--

hail

Sentence

en

1++ work
N.worked

very hard

+ very hard

very bard

Aux1

Tns

papt \
hare +

A sn ke + pust + 13akre +
i \ ,.e."

A snake Wad

en +

erb + onto the rock

I

I

I
+ onto the rock

led onto tie rock.

crawl

(1)

(2)

(3)

(4)

(5)
(6)



4.
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Sentence

NP
1 Aux'

VP

Verb + su plies

Aux1 Aux2

plt 1

Tds

hre '+ en
The rescuers+ plst: irve + en +i

The rescudrs atd dropped

dr p + suriplies

supplies.

5. Sente ce

NP

Auz

Fog +

Rig

Aux,

Tr
pres

1
liave

pres have +

haE

Exercise 13b: Eage. 29

4.

NP

+

en + cover

d

(1)

Verb + the valley (2)

(3)

(4)

(5)
(6)

+ the valley

the valley.

(1)

rb + a est (2)

The bird +

The 'bird

Aux1
I

Tna

past
iIhave + ell be + ing

t + hEAre + + + \ing

bee buildi a nest.

(3)

(4)

\\((r)

build + t) est

AMMMI;MII-
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12,

NP

The roliber +

The rollber

mew

Sentence

vr
Verb

%"%.
Aux!, Aus2

/N
st

bwrze <) en tie + ing

Past + + + tle +

had

NP

Aux

The beach boys

The bead' boys

16.

A

Sentence

Po ,4,66

Tar

pres\ have +

+ preG + have

have

en be + ing
+ \en+\be + )ing + + eve 'day

an(( our every day,

V\
Verb +

(1)

(2)

(3)

(4)

(5)
(6)

every day

Sentence

NP P

A Verb +

Ata=1 u,!2

Tns

px;es
hre

The pond + pres + )11.1 +

The Ipond Nhad

(1)

in jamary (2)

(3)

(4)

(5)
en be + frere (6)

ern a lug + f6-eze + January

b en i zing in humary

117170PAPPOPPOPTINW rompue7carir,, onnonmwomawavan7urr *um. patmows....
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The Modal A la :Thage 29
NETT& pace 26 of this manual for explarationo

Exercise 4a: age 31 (This exeecise should be optional for bright
students.

1. Sentence

Tn

plea

You + tares

Ytu

20

y

Sentekte

Ate V -rb

4* write

write.

rb

rrAtikl
I

Ares

He + pris + c

can

I
whistle

whtstle.

(1)

(2)

(3)

(4)

(5)

(1)

(2)

(3)

(4)

(5)

,..trMa. ,47.7
5&."

Z",/44!: 4'At: -.,20;1;S .;"?}X4V-Ak4, A



4.

5.

145-

Sentere................,.......
IP....-..."---

1

AtL

I

Aux_

Tom IVI

"/es
Joe + pres + must-..........,

Jde -'11dt

Sevrlyew e

A x

Aux Verb (2)

'ins (4)
i

I Ir
I

(5)

(3)

I + pre k\+ "all
I

1e It
I zeS-i-11 ea.

Vrrb

I

study

dy

Sentence
....,...................----- .........................

NP VP (1)
........,---- ......

Avz Verb t2)

ifirc....(... ..41-'"Itux
2 \ (3)

(4)

(5)

have + en (6)

The traveller icla.t + . 4>tave 4\n + stop.

The travelier slio ve st\od.

Iris M

Part



ExereA,ae 14: 2asa 32,

As 1. !ores + M + study
s\.Jerry mat study harder.

2. prey M+ begin

The show will be al at nine olclock,

3, pres + look

You n_Lacio6<t;he display,

4. past+ M + get

Frank should at the information.

5. pas`'}' M+ play

His brother might play the trumpet.

prtiLl lik+

The neighbcan Fawith uo.

7. Pe.!&4>rt see
No one cad it.

8, past + 1Ic + wiz

A touchdown v-ALQuid,willthe gam,e.

9. pr sVell + have + en + stop
/14-v-""°°°-°.A goat must hasapple the train,

10. prep + M+ be + ing + watch

The pil;t;77141.2e2McLAIin the weather,

B. Your class will find the structure of these sentences
considerably more complex. Be appears as a verb in
Sentences 6 anti it; this. offers-students the challenge
and opportunity to predict what might come next in their
grammar.

1,' Ores + iF + f4k

The pattern must fit the material,



2. past + M+ en+ write

The prisoner' ce..uld hive wratthe note.

3. past + M+ be + ing + read

He should be reaft in his room.

4. pres4 M + have + e accept

Thu Trojans must live accepted the horse.

50 peat! lkt h7+ en + hel
A kind word;tul.d have 1212eia great deal.

06. pres + M+ 13e

The test will be easy.

7. pat* M + have + en + be + ng + wear

The men should have been wea....yg.in heavy clothes.

#8. past +. M + hate + en+ Bk.,

John's demonstratioight have be n better.

9. wee + + be + ing + come
/The water can b comm from springs.

10. past+ M + have + en + tike

Dinner should save taken less time.

Eausati. Lit 21.:23

A. 1. past + flash

Lightning fla hed.

2. Ares + start

The rally starts next week.

3. past + bave + gin+ dilve

The girls had driven fifty mites.

#( The sentence contains 23e as a verb. I
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4. past + be +a swim

The scouts were swim in the lake.

5. pres + have + en + injure

Herman has Laired his toot.

6. past_ + move

Our neighbors m ed away,

7. pr t(s be + ing + sink
These weighThla'ire elyiting.the boat.

8. past tare
The steak should taste good.

9. pres + have + en + be + ing + take

Only our iends b taliAin usseriously.

10. pres + M+ hpve + en+ ar
You y have he the talk.

B. 1. pres + 100tave+ en+ see

Mother imp Mrs. Macy.

2. past + M+ + *ng + hide

Trout there.

S. pres + hav\:e + + j ie + #opg + attract
t

Crater Lake j lnen.sittEaretting large crowds.

4. Prps+ ..iv1+ have + en + say

Ulysses must have said something wrong.

5. pres + ha. e + en + be + + ve

Great man have been giving time to this problem.

6. past + M + have + en + Clo

I would have done it differently.

,,



ft

Kevin could have been colle

7. + M+ ve + n b + ect

grasshoppers.

8. pres e+7 + be + i sit

The basket s pill sittinit there since Thursday.

9. pa + have + esk>ave

Most of the group _,,,,d had. the measles.

# 10. pres + have + n + Be

'\-.------ge---.
Jack lea lekt our fire tender.
11. pres + M + have + n + be + ing sleep

Robby m:yjnyi12ggislmung all day,

12. pr s + be + ing + cause

The new puppies are maging much trouble.

;Exercise 18: Review: Pate A$
hiW-1estudenttilrgirinces will vary, the verb combinations

used should bt tc these:

A. 1, do or does
2. spoke
3. have or nas broken
4. was or were cleaning
5. may, can, shall, will, or must think
6. is, am, or are
7. am, is, are buying
8, had begun
9. might, should, could, or would be writing
10, has or have marched,

B. 1. was or were riding
2. may, can, shall, will, or must go
3, might, could, should, or would go
4. ,has or have been taking
5. may, can, shall, will, or must be catching
6. had had
7. may, can, shall, will, or must have come
8. saw
S. might, could, should or would have been reading
10. has or have been raising

# The sentence contains Be as a verb. 1

% yre-,Q."
$
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C. The directions in C should read: Construct strings
of symbols for the verbs in the if/h:oda-Am? sentences on
multi. This exercise offers a quick review of the ways
auxiliaries affect verb form and the strings of symbols
that result. You might ask some students to place di grain
for these sentences on the board aeld write the six
rules used in constructing the diagrams and strings of
syrabois. rrhis should show ail students now phrase
structure rules reconsider and rewrite elements of
previous rules.

1. p es + drive

drives

2. past + drive

drove

3. pres + e + n + drive
is driving

4. pyes + havet..en + Arive

has driven

5. p es + imve g+ drive

has be --zeidriving

6. Ares + + drive

may drive

7, st + M + have + + ins + drive

!Amid have been driving

8. past + M + be + hut drive

could be driving

--- j.



RULE (7): TE-M Eft

The equality in number which oxists betveen the elements on each
side of Be and some linking verbs usuall ELyt, remain, and .

become, in American English) the very getieral but there are er-
ceptions. For example, we say The people &re the government. ;
"'rite reerr-^e.vrt the people.. "

T.114 statement that "Be is tne only vex 34 that can ( invert in
questionsl withont adding an Aux" iE lot quite az.curate: for the
lexical verb have (not the .Arx have) has this property. in many
dialects. ("Iiii"-4-ive you a boolT6 n Essex ?" for example.) Note,
however, that unlike the lexical Be., have offers a choice in
this respect:

(0 He has a doe.

(ii) Has he a dog?
or

(ll) Does he have dog?

Whereas.

(i) He is my friend,.

(ii) Is he my friend? \,
But not (except in stage Irish):

(iii) *Does he be my friend?

Notice that Aux have does nut have the choice of lexical have:

(i) Be has been here. 4
(ii) Has he been here?

But not

(A) *Does he have been here?

Exercises: Rule 7

Exercise I: E.sam 3F,46
alt7°,F-Cets vein iierdilv. do both A and B in this exercise to

see that the verb Be doer connect words of equal value (in A)
and that other verbs, excluding linking verbs of course, do not
(in B). Some students will probably observe that the subject
(NP) and the word used after Be do refer to the same thing;
that is, they are equivalentse

* indicates a nongranimatical sentence



A, 10 Jonathan * quarterback
2. Mr, Gemes * mayor
3. boys g rivals
4. aunts (snske) charmer
5* r4 librarian

B. to Torn * elephants
2. girl a watermelon
3. witch 0 brooms
4. minister :a snails
5. Rosa a tumbleweeds
6. cat 3 canaries

6, marbles a beauties
7. mayor 0 judge
8. caterpillars pests
9. cousins firefighters

10, Tomatoes a vegetables

Exercise 2: D 36
These sentences provide an opportunity for students to test their
ability to sort out the verb Be from all other verbs. This reenforces
the ides that they are considering Be as a small class of verbs.
You might want to explain that all remaining verbs are lumpe.'.1
together at this point, resulting in a rule that says that all verbs
are either Be or another verb and that the other verbs will be
studied subsequently in a similar mannero

Verbs in Sentences 2, 4, 5, 8, 10 cannot be replacedwith.
1, castle sx museum
2, Bin :a tank
3. home 0 (briar) patch
4. lookout 0 whale
5,. Seaweed 3 propeller
6, horse a Clydesdale
7, allowance a dollar
8, General Lee a Traveler
9. king 0 tyrant

10, farmer a straw

Exercise 3: ago 3647
M71-sexersieise included to show students the equality in number
which exists between the elaments on each side of Be. (some link-
ing verbs also have this quality. ) Again, students will need to do
both A and B,

No sentences in A have just one plural word because Be is
used here to connect equivalents. Sentences 3, 4, 6, 8, 9, and
10 have the pairs of plural words.

A. 3.

6.
80
9.

109

_ oy .
_
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In B, most sentences contain a singular subject with a plural word
following the verb. But the number of either the subject or the word
following can change without affecting the other. But in A, if one
elm es the other must. This empinsizes the freedom other kinds
o seism have to select an object that does not necessarily agree in
number with the subject.

13. 1,
2.
3.
4.
5,
6.

Tom a
est 1 0

'"" --
witch 2
minister
Rosa 2
cat

hants
AS fie%awirraeviss

Exercise 4: Pa es 37-38
reTitence which obisrlicmri.ts y lackto either a predicate noun or pre-
dicate adjective is included to encourage students to predict the
third kind of predicate word that may follow Be.

1. The weather is paritsat.
The edect weather is ezip,,,,..,Att,

2. The kitten's fur was thick.
The kitten's thick fur was

3. The foreign student has been st.thanny.
The tints= foreign student has been unl)....asay.

40 His hands are sojA.
His cold hands are cold.

5. The milk is sour.
The sour this sour.

6. My tonsils were swells
My swollen tone' were swollen.

7. Trimble's feet are frostbitten.
Trimble's ftios frostbitten.

8. The fudge clew was delicious.
The delicious fudge cake was delicious

9. The house was timers.

Exercise 5: Eagg .139,
The man objective in this exercise is to show students that the verb
Be must be followed by a Br which tnay be a noun, an adjective, or
an adverbial.

Exercise 6: Pin 39

1. 7 p\t + Be + Pr
Bruno %s luc

_
?C' 17:,. 0 a - (7,,

1



2. IT + past + 3e + Pr
The children were outside.

3. NP + pres + Be + Pr

ain the representative.

4. NP + pres + ha.-1 +n + Be + Pr

Miss Biggs has been a meteorologist.

5. NPc+ p sc+ ing + Be +}r
The chimps were being talkative.

6. DIP + pr,eta + Be +

Porpoises ire f

7. N pres + M have °Pm3' + Pr
The must have been a problem.

8. NP + past + have + en + Be + Pr

Tommy hEd been a ventriloquf.et.

9. 1) + +)Ile 3,1?

Nancy also d be the chairmen.

10. N + past:)11,e2r
The cat ight be away.

Exercise 7: agt2.40
This exercise demonstrates the ease with which Be forms
invert into questions without requiring the additiarof do
or another Auxiliary. (See Paragraph 2, page sliiof this
manual.)

1. Am I your best friend?
2. Is Ronald a superior studeni,?
3. Are you the lucky winner?
4, Was mother unhappy?
5. Were the apples bx.'ight red?
6. Have the math tests been difficult this year?
7. Is he being a nuisance?
8. Will you be sorry?
9. Was the accident a calanially?
10. Has he been inside?



Exerciae 8: 4,,ra,,,,a1L414144

A. 1. Se ewe
UP

Tits

des

A s\*xaa b3 + + cieve

Afinitmals are clever.

erb
I

2. Sertence

Aux Verb

Auxi

TLI

Past

\
The oranges + + e + men
The oranges were green.

3.

lory

Sentence

VP

Ayr erh

Aux
1

Tns

\e°pr

IVIr. Biggs + pres

B +

(1)

(2)

(3)

(4)

(5)

(7)

rat...
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Sentence

Ate
...""°.°\bt,

Ar
Auk

The
i

have + e .

Verb

Vrb

The child+ past + hav forget

The child

Sent:010e4. 0

rf

forgotten.

VP

Aux Verb

(1)

(2)
..se..

(3)

Tns
I uxr

(4)

Paiirt I (5)

I I
be + ing

I \
i

(6)

Cr/

kle st+ be+ Jag + learn
e

..0
was, 1 rifling

,.....--.-",Il4).
Sentence......................,

NP VP

b

'Arci

V
-....00'1

piles

Tug

I

teachers+
The ekeve have bean
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7, Sentence

8.

NP

I t

(5)

(6)

\ \ Be I' Pr (7)
The ietective + pres + ve en+ be + inside

The detactive has been inside.

Serttendo
.0000.00"*".."4"6""1"gitriammisiew

NP VP

Atli
Ta

I

4

pt

Verb

Vrb

A lumb jack+ 5411ct

A iurzderjack obj&4ed.

9. Sezknce

NP VP (1).

V rb (2)

(3)

(4)

(5')

(f7)

Aux

Auzi

Irb

The pyl4cermant nay er2tad
The policanan might titifierm°''estan.°1:



10. Sentence

NP

1

You

You go.

(3.)

(2)

(3)

(4)

ft'

(8)

B. You may need to remitx1 students that other words
may follow Vrb. (Sentences 4 and 6).

1. sentence

NP VP (1)

Ault Verb (2)
I

A113:

1
11.28

Be +

The 1mezmeau + + be+ French.

The menu was French.

2. Sentence

NP VP

Aux Verb

Auri
1

erns

prls

t

Scatchltape+ pies +

Scotch tar*

(3)

(4)

(5)

(7)



. 3, Ser*ence
wini0000000,104.1'

NP -(1)
-

erk) (2)

(3)
1

Tns (4)

1 rfgla

txt + ;)"
(5?

The bird+ + k.+ sick1." ,
The bird. loo ed : sick,

"The boundary" may be added with erb In (2)
or Vrb in (7)0

.

..................-Sisitence

NP 4 VE., ( 1

\

,

,,.....,.sezowoos.wwocAlfir Verb 4' tIle (2
1: bounda-70

Atazi

Tns (4

pres (5
1

I have + en be + a
i

(6

/. Vrb
i

(7

The cowboys + pr s + have +,.. n + be + merk+ the bound;I

-......--. ......,.....,
,...... ,......

The icowboys haVe been marking the boundary,

50 . Sentence

P VP (1)

Atm eyb (2)
1

Aux' (3,)
i

T i t s. . . . (4)
,.

... past (51

1\
!: Be + Pr (7).

Some wives + past + I 3(1.#";t4Tothwoovered,
--.:,

Some waves w re frothcovered.

(.;



Co 1,

"The fir' my be tucluded in (2) or (7)ei

Sentence

NP
.,,.------"'"---------vp

(1)

b thoToy (2)Aux +

I

auxa

ne i

i3)

i?\
Mit

1 1

pip \ (5)
i

Literre 4 eV I (6)

A Ste kernard + mit + tv1/4; + en+ follow + the
1.--- ,...-----A St, BerMrd bad followed the boy,

Sentence

NP

Auz Verb

The

Thellage + at + 134 4f

The' flags were fbxtt wing.

(1)

(2)

(3)

(4)

(5)

(6)

Viyt(16

dutter



2, Sentence

N I., VP 1, (1).,oe----.......
Auf 7erb ()

Aue ( 3)1 -db.4dii;x,

i I
I 1 4

T;111 (41

PtIBt I-

Mire + en
1

(5)

(6)\
Pr+ 'II "ate + past + have + e + be + e7ertsThe

The gymnasts had been experts,
3, Sentence

Atiiterb
Aux, Awl

is M

13\st
The iumpire + east + can

The umpire cc d
4, Sentence

have

NP

B g. p (7)

fl+ te+ Mrs, Stuart
"`"'

+ have4

have been Mrs. Stuart

Those trecc+ p ,0.00,emaples

Those trews are maples.



5. Sent

NP

Li is +
Liihts

.62

eta

Aux4..°'..°.#.6.N.*4'164rftrerb +

Aux
1

Past

Pelt

(1)

the meet

Vi
pa + bri n+ the street

brig ened the street,

Sentence

(1)

Aux Verb +
-04ft*,Aux Aux

hake

pres

Tns

+ Eau (6)

lit (7)
e discover + the3nswer

discovered the answer.

(3)

(4)

(5)

It

Few + p

Few have

7 Sentence

NP VP

(2)

the answer (2)

(1)

Verb (2)

(3)

(4)

(6)

Be + Pr (7)

4tairsThe en+ pat
Thelbell ire.

11111101101111MOMMINNOMMapinprapilupenemorimpsommlopernorramempfiftr- ,7001.01.7,.....?
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RULE (8): THE LINKING VERB

In the section for Rule (11) you will find additional discussion
of the basis for further subclassification of VW:. While Be is
free to combine with all three types of Pr, n all linking verbs
occur with all types of Pr. "Stay" and ri:emain" may combine
with all three types. But some linking verbs, such as "become, "
are restricted to occurrence with ands! NP while still Cullers,

as "taste, '` take only an Mi. The student version does not
attempt to explain such compatibilities and incompatibilities at
this levels but your more perceptive students may become aware
of these distinctions as they study Rules (8) and (11). However,
students should not generally find Rule (8) contradictory or con- -
fusing for it simply establishes the linking verb as one that occurs
with Pr, as does Be. It does not assert that all Vink take &il
three kinds of Pr as Be is free to do.

Many classes may' find it profitable to begin compiling a lexicon
while working through the exercises dealing with verb classes.
Such a record should help students remember that some words
may be found in more than one subclass of verbs.

Exercise 1: pages 4347,

This exercise has two purposes: to show the similarity between
Be,and Vink and to prove that every Vlnk must combine with a Pr.
If the use of the adverbial of location with a linking verb tends to
confuse your students, you may need to point out a further re-
striction: a verb that occurs with an adverbial of location must
be able to occur with another type of Pr as well in order to be
classified as a Vlnk. In other words, no VInk occurs with Loc
only; it must also be compatible with one of the other types.
Thus the verb in the sentence, "The boy ran up the hi/l,

types.
could

not be identified as vlsk because, although a student might substi-
tute "was" for "rang anti conclude that "The boy was up the hill, "
is a reasonable replacement for the original sentence, an attempt
's combine "The boy ran" with another type of .Er fails.

Because Sentence 24 in Exercise 1 is somewhat ambiguous, you
may wish to omit it from the assignment. The sentence "The
snake appeared on the patio" can actually be understood in two
ways:

The snake appeared (to be) on the patio. Wink)

The snake rppet'eed (came into sight) on the patio. Vin)

In the first senteace the characteristic to be of some of the link-
ing verbs shows up. To clarify this ambiguity, you might try a
question test: the first sentence can only become "Where did he
appear to be?" while the second can only become "Where did he
appear?"
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1, The iron was hot. (adjective)
2. The cat was a a. (not a Pr)
3. Everyone is re...At. (adjedEre)
4, The harmonica was flat. (adjective)
5. The soldier was ze., 'ow. (adjective)
6, The soldier was thecorner. (not a Pr)
7. Charlie was antagonistic. (adjectiv7
8. Washington was for two terms. (noun)
9. Your answers are correct. (adjective)
10, The child was gulls
11, Abraham LincoliF*a:s a inary.t,r. (noun)
12, The new dress was her. -Irot a Pr)
13. The milk was sour. (adjective)
14. The waiter was the soup. (not a Pr)
15. His reply was true, (adjective)
16, Mr. Jessup was the bell. (not a Pr)
17, The principal was a raise. (not Ei-Pr)
18, The principal was arp17. (adjectivii
19. The crowd was outside, (adverb)
20. Freddie was uncomfortable. (adjective)
21. Johan Alden was at home, (adverb)
22. The babyEitter was miserable, (adjeclve)
23. Freddie was his way carefully. (not a Pr)
24. *See the preceding explanation.

Exercise 2: rsag2 47
Wire are various possibilities. Here are some.

The coffee smells golds
Ferdinand smelled the flowers.

Our cat gets ex_ cited.
Our cat gets mice.

The bells sou:Mu
The police so e alarm.

Time is growing phort.
Jake is growing corn.

The chameleon turned rez,l.
Joe turned the corner.

The children feel hjimy.
The shoppers feel the material.

H looks M.
He looks at the book.

?me 47
The verbs in Exercise 1 with can be replaced by an equal sign
are, of course, 8 and 11.

J" fi..,7n)1110p,
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Jkceircige rim 48
his an optional exercise. Ask your students

to put the symbols above their sentences. Since their
sentences will be different* it is not possible to give a
key. The ;impose of the exercise is to give practice in
writing symbol strings and to emphasize the basic: form
a cadences with Pe's.

xerciag 4: figs, e 53

1. Sentence

liP ---------d-'---- (1)

\

Aux ---"--....-

1

Aux
1

I

Paid
i

Verb

I
iMB
I

I

(2)

(3)

(4)

(5)

\
1

Vrb

VinEs NP
I I

el)

r (8)

The + iron + past + smell + hot

1:14.

....
Thl iron sm 1ta7r.-:-.



.sa.

2. Sentence

Auzb
Aux

Tns

aL

1

Pal

3.

The + cat

The cat

NP

sthlIed

Sentence

Vrb

iJb + a rat

smelled+ el rat

a rat.

Everyme

Sveiryone

AsNsVerb

Aux1

Tns
Pnis

"rT

VInir

pres fisam + ready
kse m. ready.

(1)

(2)

(3)

(4)

(5)

V?)

(8)

(1)

(2)

(3)

(4)

(5)

(7)

(8)

_ :T11 -



4.

_

5.

Sentenc,e

44.6ftrierb

AMY_I
Taw

Pries

Evexyone pres

Everyone

(1)

(2)

(41)

(4)

(5)

Be-+ Pr (7)
rf

+ ready
ready.

be

Sentence

(1)

Aulterb. (2)

Auxi (3)

Tns (4)
I

Past (5)

Ifirb (7)

Vb + the soup (8)
1

e Pest + to e the soup

The waiter d th soup.

bLesgett
Students will notice that in the strings now they are able to classify
all verbs as ib yalnias or !k

4. 1. NP + past + + Pr
grass



2. rp
An apple

3. NP +

Felix

4. NP +

The general

5. NP +
America

past + "ilnk + Pr
...,,,,,,...,,,,,/

I
became wormy.

pres + haye + en + Be + Pr

has been upstairs.

pres + M + be + in + Vb.
{

Nr
be sleeping.

past + have + en + be + ing + Vb

lagir 1361 exporting

+ pres + + Wilk Pr
I ivii remain dormitories.

a.

The buildings

+ iron

iron.

7. NP + pres + Be + Pr
I \° 1

The parents are proud.

8. NP + past + Be + ing + Be + Pr
Richard was being a gentleman.

9. NPI

The rooms

+ pres + M + have + Uzi +.Vbak ?r

10. NP

The witress
B. 1. NP

1

The sentences

Henry

must have smelled musty.

pros + M + Vb + the water

will get the water.

+ past + M + be + ing +,?3k
lje be ing

ist>l Vb + a
having a rt.

3. NP + past + have + en + be + ing + Vb
The (motor had 1345gr vilret<

4. NP + past + 11 + have +
I

The Saracens would have b

+ Pr
difficult.

Se + the victors

the victors,
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5. 112 + pros + haTe

Steve

6. NP

The on

su;t::)3e + ing +7. NP + p
The princess waa 1,

+ en + be + ing + rink + Pr
\\,,-°been feeling grow.

+ past + Vink + Pr

gentle.se med.,

9.

Fremont
%sem

Thisisoil

10. NP

Someone

11. xr

The static

+ Pr
I

radiant.

+ past + M + Vb + wheattc "sho d . grow wheat.

+ past + be + ing + Vb\\rwas looking.

+ pres + be + +

g

ihg :le VInk + Pr

grosving impatient.

12. NIP + pres + M + Vb + a pension

Grandfather get a pension.

13. NP

The film

14. NP

Someihats

+ past + f have +

would ve

+ pres + Be + Pr
becoming.

Pr

Jorse.

+ VInk + Pr

e popula'r.

1. NP + pros + + hive + en + be + ing + Pr
Judas must have been feeling ed.

RULE (9): THE MID VERB

A more rigorous formulation of this subset, of verbs ifould have
to take into account that some mid verbs Vresombles 'for in
can be modified by some mamier adverbials in sentences like Re
resembled his mother closely"
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The word mid ('middle) has no particular sigrtificance except to
indicate that the type is neither fish nor fowl. in Greek grammar
the word is used to describe (among other things) a refle2:ive and
irreversible verb mood.

Note the important step in the second part of this rule. the V (Man)
part. This of course symbolizes what is left of English verbs after
Vmid is subtracted. Interpreted strictly the rale states that Be,
VInk. and Vmid (the parts we have categorized so far) cannot be
modified by a manner adverbial and that an other verbs may be so
modified. We have seen however that "resembie, " at least, among
the mid verbs can occur with a manner adverbial. For example,
we might say "He became my friend graduplly. 1%, but we would
never say *"The cake tasted good slowly. h (except in an ironic
way--where the irony of course results from the breaking of this
subtle grammatical restraint.) Some of your better students may
want (if they notice the discrepancies of this kind) to try to find a
principle behind the presence or absence of manner adverbs with
Vlnk. This matter will be taken tap formally at a later date. You
may need to rental; d students constantk, that this grammar for the
first year is a relatively simple one and that the refinements of
the larguage will be taken up in later years.

rseua
Many students will find the passive construction difficult at first.
Because they must understand this basic test for mid verb (and
later the resulting transformation) you may need tt help them dis-
cover the three changes that ;automatically result when they attempt
to change sentences from the active to passive: 141:2 moves to the
initial position in the sentence, the mr:liary be is added to the verb,
and combines with the original NPA at the end of the sentence.
Point out also that they should not change the tente. of the verb when
they transform the active into the passive.

2. The furniture was ordered by Prudence.

3. The house is owned by Leland.

4, The laws are made by the government.

5, The grain was stacked by the workmen.

6. Much confusion was caused by a few birds.

Exercis(....UL2m,Ai

The sentences in A provide en opportunity for the student to trans
form active verbs into passive forms. While all students could
reasonably be etrpected to do A with little difficulty, some sentences
in B are extremely complicated, involving tho passive of the pro-
gressive in the futtre and perfect tenses, and may pose real problems



p

for most groups. (Sentences 4, 5, 6, 7, and 8 fall in this class.
Capable students might find them challenging, however, once
they notice the interesting patter na that are set up by a strict
adherence to the auxiliary pattern of the active verb. 'You will
probably need to remind them that the passive is a transformation,
not a kernel sentence, but this exercise should help them under-
stand the validity of such reasoning.

Exrcise 1: Ewe 58

A. 1. 14P1 4 Vb + NP2 NP2

The secretary typed the letter. The letter

Vb + NP1

was/ typed by the secretary.

2. NPI + Vb + NP2 NP2 + Vb

Sammy played the guitar. The guitar was played
Npl

by Sammy.

8. NP1 + Vb + NP2 NP2 Vb

Twelve men guard the palace. The/palace is guarded
1

by twelve men.

4. Npl + Vb + NP2 Np2 Vb

The custodians emptied the pool. The of wet:, emptied
Cpl

by the custodians.

5. NP1 + Vb + NP2 NP2

carries Marshals books* Marsha's books

+ Vb + Nig

are tarried by Rick,

6. NP1 + Vb + NP2 NP2 + Vb

oInow blocked dr, entrance. - The entrance was /blocked

+ NP1.

by sn6v*



The aterfall drowied out our voices.

NP1Vb

were drowned out by the waterfalls

S. NP1

Some !people

Vb
1°

will believe

Np2

you.

Vb NP1

will be believed by some people.

9. NP1 + Vb + NP2

The 'girl forgot the librarok.
+ NP

1

was forgotten by the girl.

10. N1
The 'wreck:Log 'crew

NP2

The building

+ Vb +

NP2

Our voices

NP2

Yotu

P2

demlished the building.

+ Vb NP'

was emolished by the wrec crew.

NP2 +

The librarok

11. NP1 + Vb

The counterfeiters mustave printed

NP2

These ILls

12. NP1

I

Ninth grader

NP2

An example
1B. WV + Vb

The gypsien were 'telling

7b + Nr1

were told by the gypsies.

NP2

Vb NP1

must have been printed by the counterfeiters.

+ Vb

should set

Vb

should e t

Np2

an example.

NP 1

by ninth ;graders.

NP2 Np2

ortuies. Foriunee
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2. NP1

+ Vb + NP2 NP2

i i I
The witness raised a cue ion A question

+ Vb + Npl
/ 1

was raged by the witness,

3. NP1
+ Vb + NP2 NP2

I I I 1Father could have used the paddle. The paddle

+ NP1vb

could have been used by fatter.I

# 4. NP1 + 'lib + NP2 NP2
I I

Aunt IMary was watching the television, The television

+ Vb + NPI

was beinj watched by AuA Mary.

#5. NP1 + Vb + NP2 NP2
I

I
I

A map should how the boundaries, The boundaries

+ Vb + Np 1

should be shown by the Lip.
#6. NP1 + Vb + NP2 NP2

The fire might hi killing the anirlials. The inimals

+ Vb + Npl

might beibeing killed by the fie.
#7 NP1 + Vb + NP2 NP2

I
Brotaion must bit destroying the land. Thelland

+ Vb + Npl

must be being destroyed by erosion,

#8. NP'
I

The boys

NP2 NP2

bad bell swapping pains. Pencils

Vb NP1

had been Ling swapped by the Doys
1,



9. NP1 + Vb + NP2 NI
I I 1Elephants could have pulled the 'wagons. The wagons

+ Vb + NP1
i I

could have'been pulled by the elephants.

10. NP1 + Vb + NP2 NP2

S o meone should have forwarded the/letter. The letter1 I

+ Vb + . . NP1

should have been forwarded by sjmeone.
111. NP + Vb + NP2 NP2

1 1
1Some doctors presCribe aspirin. A e,,,L.,1.1,.........

+ Vb + NP1
1 iis prescribed by some doctors.

12. NP1 + Via + NP2 NP2
I / IThe Flea ar ket may sell antiques. AnIques

+ Vb

may be sold

Paces M:fa

NP1

by the Flja Market.

The assumption tbat most students will automatically classify all
sentences containing mid verbs used in the passive as not grammati-
cal is not completely realistic. ,flasters as they are of the passive
construction resulting from their use of "got, " man" of youy stylents
may be unfamiliar with any use of the passive fort _1 with abe."
After students work through the two remaining subclasses of verbs
(transitive and intransitive) in Rule 10, they should find Valid easier
to identify. Lasure Clem that they will understand it better later on:
*2. Ten dollars is cost by the coat.

*3. Seventy pounds is weighed by the bell.

*44 His father is resembled by Bob.

g!"). A cover is lacked by this book.

*6. Courage is taken by that act.
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*7. Fair weather is meant by a red sunset.

*h. Waste is made by haste.

Exercise 2:

1. eluded (V) has an NP2, and can go through the passive trans-
orrrrn. sttiImp

2. has (Vmid) has a NP2 but does not go through passive.

3. composed (V) goes into a passive transformation.

4. lacked (Vmid)

5. needed (V)

6. weighs (Vmid) Considered together, Sentences 6 and 7

7. weighed (V) show that' so verbs which look alike
8. mixed (V) are really two different verbs*

9 resembles (Vmid)

10. means (Vmid)

11. befell (VAnid)

12. answered (V)

13. dominated (V)

14. must have been caught (V)

15. damaged (V)

Exercise 3: Pagtsf..1-59'

The sentences in A review the three verb classes and let the student
test his dkill in recognizing Be, and Vmid. In B the student
faces sentences which contain V + NP2 the subclass that 1.e will
eventually identify as transitive verbs in Rule 10.

A. 1. NP + pres + have + en + Be + Pr
A dog has been our mascot.

2. N.P + past + be + ing +' Vlnk + Pr
wasThe speaker becoming hoarse.

3. NP + pres + M + have + en + Be + Pr\\ I \V I
A boat must have been the home.
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4, NP + past + Vlnk + Pr
The water tasied metallic.

can

I \ + yr
r, %luau have feu terrible.

5, NP past + M + have + +

11%2avacirs

6. NP1 + past + M + Vmid + NP2

The istory uld halm stlispense.

7.

l

NP1 + pros e + en + Vmid + NP2

The contest iasr an lour.
8. NP + pres + M + VInk + Pr

I

Ivaii will become .a scientist.

a. Kur1 + pres + V,d + NP2r, wris..

I N..-
means Idanger.

10. NP1 + past + Vmid + 72
The Irmain resembled a weasel.

NP1
+ e + ez+ be + ingt V + NP2

.1 .

11.

The basketball team d 'Yen. la spirit.
12. NP . + pres + M + VInk + Pr

`\
Myi dog may.,"/' I

become algry.

13. NP + pres + ha e + en + Be + Pr
Sally has been a girl scout.

14. NP1 + prei ,.&:%: + V mid + NP2
I I

Thi s bridge will cost two million dollars.

15. NP1 + pres + Vink + Pr
I .%*,/- I

Your idea sounds good.:

B. 1. NP1 + pres + Vmid + 14132

The Boy Scouts 1 ck a leafier.
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2, NP pre Be

Mrs.. Jason Is

NP1

Some people

4. NP1

The parade

5. NP
I

The actors

6. NP 1

The teacher

NP1

Lake Louise

Pr
I

the housekeeper.

pres + be

a e

press + "tl

past

pe ormed

pres

ay

past + \rink

seemed

8. NP1 pres Vmid

The piincipal means

Exercise Pages59,60

The strings in A contain the root verb to be u6zrd in constructing
the sentences. Students would probably profit from classifying
these verbs as they consider the sentences written by the class.
Regardless of the varying choices of LIRand that students will
make, the verb should be

4 . + V + NP2
- 1taking a vacation.

be + ing 1. V + NP2

be paisti?ng the corner.
I 1

+ Manner

skillfully.

have + en + V + NP2

have scra bled thel answers.

Pr

pea.cleful.

ip2

business.

A. 1, m, are, or
2. shall sal many, or must be

3. had been colllatim

4. shall 2.4.1 atty., or must cost

5. had been

6, tasted

7, feels or feel

8. felt

9. arn, d, or are...gob:1g



10. has or rnizg had

B. To do B students must select a suitable verb from the sub-
class requested in the string before attaching the elements to rim-
eauce the desired VP, A comparison of the sentences composed by
different students for the same string should be stimulating as well
as informative.

RULE (10): TRANSITIVE AND INTRANSITIVE VERBS

Neither Vt." nor Vim will be further subclassified at this level.
But in substquenratmits these large subsets of verbs will be broken
down into further subsets on the basis of formal grammatical regu
larities,

exercise 1: Pa e Si

These sentences provide an important review of the three subclasses
of verbs already considered, but nine of them offer tin opportunity
to introduce transitive and intransitive verbs inductively.

Verb Kind

1. was Be

2. closed V

3. must bave been Be

4. bowed V

5. looks VIE&

6. became Vink

7. absorbed V

8. has Vmid

9. have waxed V

10. will attract V
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Verb Kind

11. resembles Vmid

12, laid V

13. is preparing V

14. tossed V

15, will be waiting V

Exercise 2: JAIL/a

(a) Student& sentences will vary Wt a3.1 should contain Viz. NP2
4. Man.,

(b) In assigning this exercise you might want to remind students
that here they are simply testing to eliminate any Vinid they
may have used in (a).

uldsz

(a) 1. destroys -

2. read - Vtr

S. scolded - Vtr

became - VinkA

e has been shaking

6. cost - Vmid

7. fell

8. must have been collecting - Vtr

9. are - Bas

10. could see - Vtr

11. went

12. had :lost - Vtr

when s'him" shifts to the NP1 position in the passive.)
tnterepted in the automatic change fit form which results

.

.... 1

. .

(b) 1. Men are destromelby war.

2. The message was read by Tom,

3. He was scolded by his father. (Students vital probably be

,......, _
..G,;e..........wk_
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8, Fossils must have been bey collected by Ronald. (Be--.
cause of the comp exity the auxiliary construction in the
original sentence, the passive form may seem awkward
to some students. But all of them would probably be ready
to accept "Fossils must have been collected by Ronald."

10. Many colors could be seen by us.

12, Umbrellas had been lost by several spectators.

(c) The verbs in Sentences 5, 7, and 11 fit no category discussed
thus far because, unlike other verb subclasses, they do not
take either Pr or IMP. You might find this a good time to
ask students if they can see now why we initially break a ker-
nel sentence into just two parts, NP + VP. The more per-
ceptive students will realize that the worts' following the verb
help determine the classification of the verb.

bge 62

Two changes will make the branching diagram example more accurate.
Tense should be Tns and Pres should be added from Rule 5.

(d) 2.

NP

1

Torn\ri OM

Sentence
11"148',Ifta...on

V la' (1)

Aux---- erb (2)

Ali 1 (3)

Tn's (4)

Past (5)

Vrb (7)

lib (8)
1

V (9)

tra tt (10)
if past le rend + tle message

d thl message..



4
43.

went Lce

NP

The audience

The audience

Verb

Vrb

ving: pr

past + bewle + quiet

betar: quiet.

8. Sentence

NP

A
-0-' *N,

Aux2

1

Pee

have +

ii

en

I
i

I
i

itonaW + prea + 1141 + is + en +\.,been

be +

Verb



The

At Verb

Azuni

TA

im; pres

The twin5 Ere

gams
2* it &see; take-a

3* it &month take an NP2

(ie it doesn't take an NP2

taimA4

Be +

e idritical

The last line of the branching diagram at the bottom o1 the pageshould bedded to read

Via Vtr + NP
/giu igrgivaLlieli
While the answers will -warN students' sentences &mid contain
theme forms: C no. 5, neitherstring nas au intransitive verb).
1, blow or blows (Vin)

blew OW

2. fle r (Vtr)

Oew NU)

3. ntlYe shali, will, or must ring (Vtr)

may, can, shall, will, or must ring Min)



4. am, is, or a 'fte sailing (yin)

was or were sailing (Vtr)

5, had weighed (Vtr)

has or have weighed (Vtr) or (17:1:aiLi)

hears or hear Min)

hears or hear (Vtr)

B. Answers will vary but might be similar to the following:

1. The nuin drives carefully. (Vin)

The nrul drives the car carefully. Vitt)

2, The hoop rolled down the road. (Vin)

The man roiled a cigarette. (Vtr)
S. I will plan carefUlly. Ma

They will plan the party. (Vtr)

4. The girl writes legibly. (Vin)

Sire wrote a letter, (Vtr)

5. Tom throws well. (Vin)

Tom was throwing the ball. (Nrtr)

8. Jenny sings beautifully. (Vin)

The chorus sang a medley.. .(Vkr)

if. We Locke at the material. (Visa)

John looked sick, (Vitik)

8. The Russians danced daringly. (Vii)

They danced the twist. (Vtr)

psmcafiRe ew Pa .35

*.

A. While students° answers will necessarily vary, they should
contain these verb forms:

1. cost or costs



2. talked

3. can may, shall, will, or must remain

4. could, should, or would run

5. had made

6. is, are, or am smelling

7. smell or smells

8. could, should, mizi,t,ht, or would have heard

99 aan, may, shall, will or must have been hearing

10. have or has been

B. As this exercise terminate* the division Of verbs into five
subclasses, these strings furnish students with a comprehen-
sive review of the VP part of kernel sentences. Because the
sentences construe by Your student8 will vary considerably,
you might use this opportunity to reenforce the notion presented
(wilier that an infinite number a sentences can result from one
string ofaymbols.
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RULE (11): THE PREDICATE

(11) Pr..) NP
Adj

Loc

At some later time the rules will have to be Wined to indicate that the
No of the predicate NP is dependent on the subject NP. As the rules
are here formulated it would be quite possible to come up with
clearly ungrammatical sentences. For example.

*The boys became friend.
*The boy became friends.

The formal way of stating the grammatical dependencies here is too
subtle for presentation at this level. However, the exposition of
Rule (7) in the Teacher's Manual presents the problem int an informal
way.

In another way this rule is not so closely formulated as it will even -
tually have to be: for only "stay and "remain" (among the VInk)
and Be are free to combine with all three types of Pr. Other VInk are
limited to occurrence with Act and NP (for example, i'become r; and
a. (such as "taste"), etc. You may need to remind your students
of the restriction which we placed on the adverb of location used as
Pr (see t, exposition of Rule (8) in the Teacher's Manual. )

Exercise 1: Pacte 67
enrTerseet, 8, 9, and 10 are complete because each contains a Pr.

2. Democrat
8. true
9. larger

10. at home

Exercise 2:- page 68

Students' answers will necessarily vary, To erieous-sge your
class to explain the limitations placed upon some \rink you might let
students experiment by trying to substitute other es a Pr. Thus
they could prove that while Be combines freely with all types of Pr,
linking verbs do not.

Exercise 2: page 69

B. 1. heavy - di.
2. confident - Adj
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3. quiet - Ad j.
4. a scoundrel NP
5. at anchor - Loc
8. indistinct - Adj,
7. late - Adj.
8. Henry Cabot Lodge - NP
9. in San Francisco - Lye

10. an inventor - NP

E),....0.1...cise2.3,122:11.

Since the example of the branching diagram on page 36 is somewhat
telescoped, some students may find it confusing. If such a conden-
sation presents problems for any student you may wish to have him
follow the earlier procedure of placing each step or rule develop-
ment on a different line. The diagrams that follow adhere to the
more elementary` method. Because the emphasis in this exercise
is nn Rule (11), he sentences have a simple verb coueruction.
6ee Sentence

.........---.........----...........ThrNP P

The suitcase
I

The suitcase

Aur------Varb
I 1Aux

1

TL
rte-t

V b

Ifirair
1 ati
I

.....3
1past + look+ helavy

'.-...,,
lo 'ed heavy,

1111k414111



24 Sentence

The boys

The boys

30

VP

Aulr'sgerb
Aux

1

Tits

Past

(3)

(4)

(5)

Virb (7)

(a)

Adj (11)

f 1 + confident

confident.

Sentence

Amc

A/ix
,1

Tr s

PEts.

\rink

The audience past + remain

rem ed

Verb

Vrb

The audience

foroommommommo

A

(1)

(2)

(3)

(4)

(5)

(7)

(8)

Aldj (11)

quiet.



4.

5.

-90-

Sentence

a. ass

Pale (5)

Pr (7)Be

(11)

1

a scoundrel

a scoundrel.

I At

1

1 1

Benedict Arnold + vas t + 4e

tt,...s.Benedict Arnold VII

Sentence

NP P

Verb

The ship

eltship

Auxi

Tr)s

Past

re fled

Vrb

144

remain + at for
at anchor.



6.
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Sentence

A

Aux 1

erLs

Plat

PaBt

I

have

The mutterings ale st + have
T Witte 1gs had

7. Sentence

+ en

en

erb

rb

L 4- indistinct

Adj (11)

indistinct.grown

The deliveries + past

Adj

late

late.
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B. Sentence

Auxi

Tnis

Pris

1

Our ambassador + pres g>be + He

Outrabassador Henry Cabot Lodge..

Verb

(1)

(2)

(3)

(4)

(5)

Pr '(7)

(11)

Cabot Lcidge

IYou may treat "Our" here as a determiner, or change it to "the. "
Strictly speaking it is, of course, a possessive pronoun which we will
deal with later]

9.

NP

Jensen

Sentence

Vrb

r

+ past stay + in San Francisco

Jensen dyed in an Francisco.
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10. Sentence

(1)

Atir-----------**.."6.41Verb (2)
i , 1

Arati (3)

TL (4)

Past (5)

Vrb (7)

VingPr (8)

NP
I

(p.1)

Thomas Edison + + bel + an idivpast me entor
-, -.........,..,_

Thorn Edison be"t1tme an ientor.

Ezef2sin

Because either A or Z offers a comprehensive review of the kinds
of VP structures that produce kernel sentences, you will probably
not want to assign both parts of this exercise. The strings in B
result in more involved constructions to challenge above average
students,

RULE (12): Tkrit MANNER ADVERB

(12) Man Adj + V

This rule may seem deceptively easy to your students. It is certainly
too simple to say that manner acIverbiale are only and always equal to
Adi it even if we allow for a Os and for the rule not being neces-
sarily reversible (thid is not as Acji + ) We will BOO later
that a number of prepositional phrase types (for examples "by means of
+ NP") are z&. g and that large dames of J,cis are prevented front combin-
ing with y(for example, ",:corangely, bigly, etc.). And of courses in
doing the exercises, students will find that not all words ending in
are adverbs.

Ex rciies jiiNgeLL136-13

Students will discover that three of these adjectives (those in 5 12s and
14) do not have to add WA order to fit the frame sentences.
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Exercise 2: Pim la

. .
1 You might want to point

out tnat in the question transformation tense shifts from the original
verb to do which is inserted to help ask the question. Thus in Sentence
7 we say

PrN es + run Pres 4fio

The streamliner runs fast Does the streamliner rim fast?

Did fits the past tense form of the verbs in the other sentences. With
the verb did already in Sentence 6, the resulting, transform becomes
especially interesting.

A. 1. deliberAtly.. How did Zack break the window?

2. swiftly.. How did the deer leap?

3. palm17. How did Fenwick light the bomb?

4. beauti=r. How did the soprano sing?

5. harssh.lx,. How did the officer speak?

# 3. correctly. How did I do the problems?

# 7. fast. How does the streamliner run?

8. BgaLy1 . How did Jane copy her paper?

9. well. How did Henry do the job?

10. ha.poily. How did the children play?

Exercise 3: Page 74

You may want to warn your students that not all ly, words are manner ad-
verbs. (gail_ -1 sentence 1 might be a good one to talk about. )

manner adverb ad'. + 1
1. properly proper + ly
9 smartly smart I' ly

3. fast fast + 0
4. easily easy +

5. hard hard + 0
G. Because lovely is a Pr (Adj. ) used with the Be verb* it cannot be a

manner adverb.



7. steadily

8, boldly

steady + ly

bold + ly

9. This sentence does not contain a manner adverb.

10, right

11. well

12. swiftly

13. willingly

14:. loosely

15. cheerfully

Exercise ispagt/A

right + 0

well +

swift + ly

wig + ly
loose + ly

cheerful + ly

WARMING

Students should not atte.2.xi t to d° Sentences 1 and 14 because thg
are not kernels:-Please substitute entente

These diagram9 have two purposes. They give students practice in add-
ing Rule (12) to the branching diagram and remind them that a manner ad-
verb tends to occur with a transitive or intransitive verb.

2. Sentence

Auxerb
Vrb

jb

an

(1)

(2)

(7)

(8)

(9;

ye" AI (12)

pat w p + the hors + smart +

crtupped the horses smartly.

.5



4.

11.1.1.=wel

Sentence

Aux

(3) AL/

avne

Ices

?ores + wrinkle

.tyr e

(5)

Paper

Paper

erb
I

Vrb

VP,

(1)

(2)

(7)

(a)

V Vias (0)

(10) Via
1"

ly (12)

easy

6. Sentence
-....-----

\.........------

ix

(4)

Aux---Verb (2)
(3) A

TL1

(7) Be
./

NP 1/P (It

+ in the snow

AdJ
I

/

I

Sje trees + pl,& + }e + lovely + in e snow

TI trees *ere lovely in snow.I

ep.s

11. Sentence

A
I

Aux 1 (3)

ftafra (4)

Plea (6)

PrIte

rb (2)
1

'kb (7)

Vb (8)

V

yin (10) Ad (12)

+ well +

welL



15. Sentence

Nri
1

I

A)

I (3) Arci

(4) Tns

Is) Pt (9) V
i

Alm . to

(10) Via

my dad

1

.. (12)/

Grandfather + past + spea + cheerful + to myN \ dad.
Granofather cheerfully to my dad.

-97-
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VI- AT RAVE WE LEARNED

( Review)

Since you will probably move into a rhetoric or literature unit after
completing Rule (12), you may find ghat your students will need a re-
view when they resume work on Rule (13). Therefore, you might
prefer to use this review unit then rather than at the end of aule (12).
Cr you might well divide this review, using possibly A, B, and C now,
saving D and E to serve as a refresher when you start Rule (13).
Any of the exercises in the Review Unit for Eighth and Ninth Grades
which you did not use earlier would be suitable for supplementary
review also.

12.ut11;

2. Rule (2) says that ever, verb has an auxiliary which gives it form.

3. Rule (3) shows that while a verb may have two kinds of auxiliaries,
it automatically has A uxi. The optional element, Aux2, is not
present in the diagram because it is not present in the sentence.
In the rule, Aux2 is placed in parentheses to indicate that it is
optional.

Rule (4) says that Auxi is always tense. This is an obligatory pat
of every verb. Another optional part of a verb, modal, which is
a part of Rule (4), is not present in the sentence; therefore (M) is
not placed in the diagram

5. Rule (4) indicates that every verb has Tns. Rule (:.; tells us then
that the tense which every 93rAfince las. must be either Past or Present
but never both. (The braces specify this choice. )

3. Because the sentence does not contain either part of AL,42, Rule (3)
does not apply.

7. Eat is not a Be verb. We use the shortened form of verb, Vrb, as
the symbol to include all the verbs remaining after Be has beer.
placed in a special subclass. Again, braces indicate that every
kernel sentence contains either a verb or another verb, but
not both.

8. Eat is nit a linking verb because it dues not have a Pr. With another
subclass of verbs established, i e know now that every kernel has
a Be verb, ylnik, or alloter kind of verb. Vb indicates that the
group of verbs to be reconsidered in Rule (9 is smaller because
in Rule (6) we have removed linking verbs and placed them in a
special subclass.

To test for a mid verb 're try to restate the sentence in the passive.
Because the sentence, "The grapes were eaten by the fox. ", is
grammatical we conclude that ate is not used as a mid verb in this
sentence. Ind the sentence will accept a manner adverb which
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reenforces our notion that this verb should not be placed in the
mid verb class.

While the group of verbs remaining to be classified has become
somewhat smaller in each stage of our diagram, we still have a very
large class of verbs left.

10. Rule (10) then disposes of all remaining verbs, V, by saying that
any verb which is not Be, Vink, or Vrnid is either transitive (Vtr)
or intransitive (yin). Ziecause eat &Mowed by a direct object,
N_ it, we mark irVir.

11. and 12. Rules (11) and (12) do not apply because the sentence has
no Pr or manner adverb (Man).

Ezercieview: Pane ja
A. 1. r + pres + have + en + be + ing + Vtr + NP2

1A Jar has been cat the gasoline.

2. NP + pros + have + Vint + Pr (or .JP)
I 1 1The conversation has become an argument.

3. NP + pres + M + Vin :- Man (or Adj + ly)
1 ,.

1The members may t quietly.

4. NP + past + M + Vm.id + N?2'.d7
This' candy should cost a nickel.

5. NP + past + 73 + Pr (or Adj)
I N.,/-The topping was gooey.

D. 1. NP + past + have + en + Vtr + NP2

Socrates 7cic( dr nk the hemlock.

2. NP + past + M 'I+ Be + ing + ' lid + NP2
N.."°.The EriffiXamer .'night . IL having trouble.

3. NP + pros + Be + Pr (or NP)
1

...,,,/
IHis violin is a Stradivarius.
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4. NP + pres + have + en+ be+ ins Vin + Man (or Adj\
has been working patiently.

5. NP + pres + M + have + en + I. Pr (Adj)

The applause .11.111. have sounded
1


